
MATHS

BOOKS - CENGAGE MATHS (HINGLISH)

INDEFINITE INTEGRATION

Examples

1. Evaluate:
∫ dx.

Watch Video Solution

(1 + x)3

√x

2. Evaluate
∫

Watch Video Solution

2x + 1 − 5x − 1

10x

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ywnhJny4hitt
https://dl.doubtnut.com/l/_jDRBJhkNkjL2


3. Evaluate ∫ sec2 xcosec2xdx.

Watch Video Solution

4. Evaluate ∫ dx.

Watch Video Solution

1 − cos x
1 + cos x

5. Evaluate ∫ dx.

Watch Video Solution

1
1 + sin x

6. Evaluate:
∫ tan− 1{√( )}

Watch Video Solution

1 − cos x
2 + cos 2x

https://dl.doubtnut.com/l/_RQa7mcmK07tn
https://dl.doubtnut.com/l/_c4Ldeqfm2QcY
https://dl.doubtnut.com/l/_se4GHMp3Q7YR
https://dl.doubtnut.com/l/_wS8uNcKxaIjp


7. Evaluate:
∫ dx.

Watch Video Solution

sec x
sec x + tan x

8. Evaluate ∫ dx.

Watch Video Solution

1 − x2

1 + x2

9. ∫ cos3 x  dx =

Watch Video Solution

10. Evaluate: ∫  dx

Watch Video Solution

8x + 13
√4x + 7

11. Evaluate:
∫ dx.
1

√3x + 4 − √3x + 1

https://dl.doubtnut.com/l/_RxKjtkXUU2zr
https://dl.doubtnut.com/l/_P6g6DOF6W68G
https://dl.doubtnut.com/l/_OcAsdH2oW9oZ
https://dl.doubtnut.com/l/_Ug2lFhSqCRFJ
https://dl.doubtnut.com/l/_UncSL9l6XG1C


Watch Video Solution

12. Evaluate: ∫ sin4 x dx

Watch Video Solution

13. Evaluate ∫ sin 2x sin 3xdx.

Watch Video Solution

14. Evaluate:
∫

Watch Video Solution

dx
(2x − 7)(x − 7)(x − 4)

15. Find the values of aandb
such that ∫ = tan( + a) + b

Watch Video Solution

dx
1 + sin x

x
2

https://dl.doubtnut.com/l/_UncSL9l6XG1C
https://dl.doubtnut.com/l/_6ciFufbQ8RFL
https://dl.doubtnut.com/l/_J6F0BU23Auq0
https://dl.doubtnut.com/l/_bM3JFpBPirGE
https://dl.doubtnut.com/l/_0zv1zbyQzOj2


16. Ecaluate the following: 

(i) ∫ dx        (ii) ∫ dx 


(iii) ∫ dx         (iv) ∫ dx

Watch Video Solution

sec2 x
3 + tan x

ex − e− x

ex + e− x

1 − tan x
1 + tan x

1
1 + e− x

17. Evaluate the following : 

(i) ∫ (x + )
3 / 2

( )dx    (ii) ∫ dx 


(iii) ∫ dx     (iv) ∫ dx

Watch Video Solution

1
x

x2 − 1
x2

√2 + log x
x

(sin− 1 x)
3

√1 − x2

cot x
√sin x

18. Evaluate: ∫  dx

Watch Video Solution

sin 2x

a2 sin2 x + b2 cos2 x

19. Evaluate ∫ dx
1

1 − tan x

https://dl.doubtnut.com/l/_P4lf6TS5rF1y
https://dl.doubtnut.com/l/_qetR5QkNl5Or
https://dl.doubtnut.com/l/_GuVZ2TRTWzeQ
https://dl.doubtnut.com/l/_54yDR9F6B6Sr


Watch Video Solution

20. Evaluate:
∫ (log dx

Watch Video Solution

tan x
2

sin x

21. Evaluate:
∫ tan4 xdx

Watch Video Solution

22. Evaluate:
∫ secp x tan xdx

Watch Video Solution

23. Evaluate ∫ dx.

Watch Video Solution

loge(x + √x2 + 1)

√x2 + 1

https://dl.doubtnut.com/l/_54yDR9F6B6Sr
https://dl.doubtnut.com/l/_WQIE03inVrFk
https://dl.doubtnut.com/l/_2rhHxQc0tFjl
https://dl.doubtnut.com/l/_zGIsZlwELEOb
https://dl.doubtnut.com/l/_hGNPoRguH4Ak


24. Evaluate:
∫ dx.

Watch Video Solution

2x − √sin− 1 x
√1 − x2

25. Evaluate ∫ (x6 + x4 + x2)√2x4 + 3x2 + 6dx.

Watch Video Solution

26. Evaluate ∫ sin 2xd(tan x).

Watch Video Solution

27. Evaluate:
∫{11 + 2x(tan x + sec x)} dx

Watch Video Solution

1
2

https://dl.doubtnut.com/l/_hGNPoRguH4Ak
https://dl.doubtnut.com/l/_yBUHyO5indDN
https://dl.doubtnut.com/l/_jPsMEo76oTjV
https://dl.doubtnut.com/l/_dOtlZxmcSLAa
https://dl.doubtnut.com/l/_Zc5ZbiZrZDNM


28. Evaluate ∫ tan x tan 2x tan 3xdx.

Watch Video Solution

29. Evaluate ∫ tan x tan(x + 1)dx.

Watch Video Solution

30. Evaluate ∫ dx.

Watch Video Solution

1

√3 sin x + cos x

31. Evaluate: ∫  dx

Watch Video Solution

1
sin(x − a)sin(x − b)

https://dl.doubtnut.com/l/_wsOUDuq3IPWf
https://dl.doubtnut.com/l/_QxSgwX4bBxra
https://dl.doubtnut.com/l/_wqddHFaWbJtG
https://dl.doubtnut.com/l/_AUMltuaLHBrU


32. Evaluate ∫ .

Watch Video Solution

dx

√1 − x2(1 + √1 − x2)

33. Evaluate:
∫

Watch Video Solution

dx

(a2 + x2)
3
2

34. Evaluate:
∫ dx

Watch Video Solution

1

(x2 + 2x + 2)2

35. Evaluate ∫

Watch Video Solution

dx
(x3 + 3x2 + 3x + 1)√x2 + 2x − 3

https://dl.doubtnut.com/l/_IgandcdPlx95
https://dl.doubtnut.com/l/_VQoCvkG6fL8x
https://dl.doubtnut.com/l/_NSPtqUNOtHVF
https://dl.doubtnut.com/l/_sWFUaN2aDckI


36. Evaluate:
∫ √ dx

Watch Video Solution

1
x

1 − √x
1 + √x

37. Evaluate:
∫ sin(ex)d(ex)

Watch Video Solution

38. Evaluate ∫ cos3 x√sin xdx.

Watch Video Solution

39. Evaluate: ∫222x

⋅ 22x
⋅ 2xdx

Watch Video Solution

https://dl.doubtnut.com/l/_EzU4cI1JOxMe
https://dl.doubtnut.com/l/_ndYgTesPjbeZ
https://dl.doubtnut.com/l/_lXw57kzUSDUP
https://dl.doubtnut.com/l/_gbpKur1T0V6M


40. Evaluate:
∫ dx

Watch Video Solution

e√x cos(e√x)

√x

41. Find
∫ dx

Watch Video Solution

ex(1 + x)
cos2(xe2)

42. ∫5x + tan− 1 x
⋅ ( )dx.

Watch Video Solution

x2 + 2
x2 + 1

43. Evaluate:


Watch Video Solution

sin3 xdx
(cos4 x + 3 cos2 x + 1)tan− 1(sec x + cos x)

https://dl.doubtnut.com/l/_NQABupG7eYAx
https://dl.doubtnut.com/l/_7HnTpFlqGLdI
https://dl.doubtnut.com/l/_HjZRIED4dxnZ
https://dl.doubtnut.com/l/_cTWoRIIfY5yn


44. Evaluate:
∫ (( )
x

+ ( )
x
)1nxdx.

Watch Video Solution

e
x

x
e

45. Evaluate ∫ .

Watch Video Solution

1

√e5x 4√(e2x + e− 2x)3

46. Find ∫ sin5 xdx.

Watch Video Solution

47. Find ∫ sin3 x cos5 xdx.

Watch Video Solution

https://dl.doubtnut.com/l/_jxOsJ9CQyDzG
https://dl.doubtnut.com/l/_J4faZeblSLnu
https://dl.doubtnut.com/l/_RFS1eKq4LwmV
https://dl.doubtnut.com/l/_8ZGY77hmDNcn


48. Find ∫ .

Watch Video Solution

dx
sin x cos3 x

49. Evaluate:
∫

Watch Video Solution

dx

x2(x4 + 1)
3
4

50. Evaluate ∫ .

Watch Video Solution

dx

x2√1 + x2

51. Evaluate:
Evaluate:
∫x− 11(1 + x4)− dx

Watch Video Solution

1
2

https://dl.doubtnut.com/l/_dAYrSqvqgT34
https://dl.doubtnut.com/l/_ERpH7ixeBGIv
https://dl.doubtnut.com/l/_A6TIxOVTnWRw
https://dl.doubtnut.com/l/_3Qa1xMOGmfDu


52. Evaluate ∫ dx.

Watch Video Solution

1 + x4

(1 − x4)3 / 2

53. Evaluate:
∫ dx

Watch Video Solution

1

[(x − 1)3(x + 2)5]
1
4

54. Evaluate:
∫ dx

Watch Video Solution

1
x2 − x + 1

55. Evaluate:
∫ dx

Watch Video Solution

1
2x2 − x − 1

https://dl.doubtnut.com/l/_onwopPegrMKb
https://dl.doubtnut.com/l/_m8rF1EDv0iGQ
https://dl.doubtnut.com/l/_iBRrxwvmiGVK
https://dl.doubtnut.com/l/_xU6NZHJEwAUP


56. Evaluate:
∫ dx

Watch Video Solution

cos x

sin(x − )sin(x + )π
6

π
6

57. Evaluate:
∫ dx

Watch Video Solution

x
x4 + 2x2 + 3

58. Evaluate:
∫ dx

Watch Video Solution

2x + 1
x4 + 2x3 + x2 − 1

59. Evaluate ∫ .

Watch Video Solution

dx
(1 − x2)√1 − x2

https://dl.doubtnut.com/l/_jzlBuGe8F6ZB
https://dl.doubtnut.com/l/_Qmwke3WqW7Fz
https://dl.doubtnut.com/l/_ke6FJxmlaA5W
https://dl.doubtnut.com/l/_AHC1N76twbcd


60. Evaluate: ∫  dx

Watch Video Solution

4x + 1
x2 + 3x + 2

61. Evaluate:
∫ dx

Watch Video Solution

x2 + 1
x4 + 1

62. Evaluate: ∫  dx

Watch Video Solution

x2 − 1
x4 + x2 + 1

63. Evaluate:
∫ dx

Watch Video Solution

x2 + 4
x4 + 16

64. Evaluate: ∫√tan\ theta\ d\ theta

https://dl.doubtnut.com/l/_7O0F5ekBk1G1
https://dl.doubtnut.com/l/_WpzYvcOwguEX
https://dl.doubtnut.com/l/_rbljXNOUSGNg
https://dl.doubtnut.com/l/_YlysCxmx6fjU
https://dl.doubtnut.com/l/_TuQeYoPkFRwV


Watch Video Solution

65. Evaluate:
∫ dx

Watch Video Solution

1

√(x − 1)(x − 2)

66. Evaluate:
∫ dx

Watch Video Solution

sec2 x

√tan2 x + 4

67. Evaluate: (i) ∫  dx
(ii) ∫  dx

Watch Video Solution

ex

√4 − e2x

x2

√1 − x6

68. Evaluate ∫ .

Watch Video Solution

tan xdx
√2 + 3 tan2 x

https://dl.doubtnut.com/l/_TuQeYoPkFRwV
https://dl.doubtnut.com/l/_x02YiqPFgZvK
https://dl.doubtnut.com/l/_SFD7Z7Mo1G99
https://dl.doubtnut.com/l/_9xbFrHEhzBVV
https://dl.doubtnut.com/l/_LLD66ymC9zkr


69. Evaluate: ∫√sec x − 1 dx

Watch Video Solution

70. Evaluate: ∫√  dx

Watch Video Solution

1 + x
x

71. Evaluate:
∫ dx.

Watch Video Solution

sin x
sin 3x

72. Evaluate:
∫ dx

Watch Video Solution

1
3 + sin 2x

https://dl.doubtnut.com/l/_LLD66ymC9zkr
https://dl.doubtnut.com/l/_vNQV5tE0D0WP
https://dl.doubtnut.com/l/_m6Q6zWTwXJBV
https://dl.doubtnut.com/l/_0HsxKRg5mm3H
https://dl.doubtnut.com/l/_3ylQ7yQq3prs


73. Evaluate ∫ .

Watch Video Solution

dx
2 + sin x + cos x

74. Evaluate ∫ dx.

Watch Video Solution

3 sin x + 2 cos x
3 cos x + 2 sin x

75. Evaluate: ∫  dx

Watch Video Solution

1

(x − 3)√x + 1

76. Evaluate: ∫  dx

Watch Video Solution

1

(x − 1)√x2 + 1

https://dl.doubtnut.com/l/_waZWkspl4yKP
https://dl.doubtnut.com/l/_CGU44P0PKcuW
https://dl.doubtnut.com/l/_SfgDrSXY4TAF
https://dl.doubtnut.com/l/_xFtDnfEeeCTu


77. Evaluate:
∫ dx

Watch Video Solution

x2 − 1

(x2 + 1)√x4 + 1

78. Evaluate:
∫ dx

Watch Video Solution

1

(1 + x2)√1 − x2

79. Evaluate ∫ .

Watch Video Solution

(sin x + cos x)dx

√3 + sin 2x

80. Evaluate:
∫ dx

Watch Video Solution

sin x
2 + sin 2x

https://dl.doubtnut.com/l/_8GaN9wkEgx8w
https://dl.doubtnut.com/l/_N9APtwnKKv06
https://dl.doubtnut.com/l/_b4AHLo0LXUPN
https://dl.doubtnut.com/l/_3bZD2x6q1TYq


81. Evaluate:
∫ dx

Watch Video Solution

2x − 1
(x − 1)(x + 2)(x − 3)

82. Evaluate:
∫ dx

Watch Video Solution

2x
(x2 + 1)(x2 + 2)

83. Evaluate:
∫ dx

Watch Video Solution

1
sin x − sin 2x

84. Evaluate:
∫ dx

Watch Video Solution

(x − 1)(x − 2)(x − 3)
(x − 4)(x − 5)(x − 6)

https://dl.doubtnut.com/l/_ffrv696MuMoq
https://dl.doubtnut.com/l/_GrfJzhOdrSQd
https://dl.doubtnut.com/l/_Q5wtZ7MlBiW8
https://dl.doubtnut.com/l/_WpBnk5DgGae4


85. Evaluate ∫ dx.

Watch Video Solution

x2

(x2 + 1)(x2 + 4)

86. Evaluate:
∫ dx

Watch Video Solution

sin x
sin 4x

87. Evaluate:
∫ dx

Watch Video Solution

x2 + 1

(x − 1)2(x + 3)

88. Evaluate:
∫ dx

Watch Video Solution

x
(x − 1)(x2 + 4)

https://dl.doubtnut.com/l/_Lb0X10qDzeTI
https://dl.doubtnut.com/l/_I3ohXsOEki0n
https://dl.doubtnut.com/l/_PK6plkttV2fQ
https://dl.doubtnut.com/l/_EjIIyNpkb1CH


89. Evaluate:
∫ dx

Watch Video Solution

(log)exe
.

loge2e
.

loge3xe
x

90. Evaluate ∫x sin 3xdx.

Watch Video Solution

91. Evaluate ∫x log xdx.

Watch Video Solution

92. Evaluate ∫ sin− 1 xdx.

Watch Video Solution

93. Evaluate ∫2x3ex2
dx.

https://dl.doubtnut.com/l/_6CSl3NxTM8VC
https://dl.doubtnut.com/l/_Wpcfp7xialkk
https://dl.doubtnut.com/l/_WylKfnlEBMpp
https://dl.doubtnut.com/l/_bT71JN3exlZk
https://dl.doubtnut.com/l/_tN7Wf7Nfrx3o


Watch Video Solution

94. Evaluate: ∫  dx

Watch Video Solution

x2 tan− 1 x
1 + x2

95. ∫ dx

Watch Video Solution

x − sin x
1 − cos x

96. Evaluate:
 ∫ (x)ispolynomialfunctionofthenthdegree, provethat −

∫exf(x)dx = ex[f(x)f ′ (x) + f x = f x + + ( − 1)nf ( n ) (x)]
 Where 

f ( n ) (x)de ¬es

Watch Video Solution

dnf
dxn

97. Evaluate:
∫ sin− 1 √ dx.
x

a + x

https://dl.doubtnut.com/l/_tN7Wf7Nfrx3o
https://dl.doubtnut.com/l/_HXnK59mM2MJw
https://dl.doubtnut.com/l/_Iav7F7lvc2Cb
https://dl.doubtnut.com/l/_HwGLo17ZIAC5
https://dl.doubtnut.com/l/_IVSJIldvB2lh


Watch Video Solution

98. Evaluate ∫ dx

Watch Video Solution

loge(1 + sin2 x)
cos2 x

99. Evaluate ∫ e2x sin 3xdx.

Watch Video Solution

100. Evaluate ∫ sin(log x)dx.

Watch Video Solution

101. Evaluate:
∫ esin ^ (( − 1)x)dx.

Watch Video Solution

https://dl.doubtnut.com/l/_IVSJIldvB2lh
https://dl.doubtnut.com/l/_9dsMLu4Cjy4O
https://dl.doubtnut.com/l/_RvPXEt2bcuAM
https://dl.doubtnut.com/l/_Rwt4rbhuYesR
https://dl.doubtnut.com/l/_JB4o2koeFb7K


102. Evaluate ∫√1 + 3x − x2dx.

Watch Video Solution

103. Evaluate ∫ sec3 xdx.

Watch Video Solution

104. Evaluate: ∫ (x − 5) √x2 + x dx

Watch Video Solution

105. Evaluate ∫ ( − log xsin x)dx.

Watch Video Solution

cos x
x

106. Evaluate ∫ (3x2tan − xsec2 )dx.
1
x

1
x

https://dl.doubtnut.com/l/_6Y6oKH5Qhmke
https://dl.doubtnut.com/l/_aFip8nDAfSaD
https://dl.doubtnut.com/l/_KSykW4JJbJyL
https://dl.doubtnut.com/l/_PttgDkRTG1f0
https://dl.doubtnut.com/l/_dpe1XKr2bbGx


Watch Video Solution

107. Evaluate:
∫ (log(log x) + )dx

Watch Video Solution

1

(log x)2

108. Evaluate:
∫ ex( − )dx.

Watch Video Solution

1
x

1
x2

109. Evaluate: ∫ ex (log x + ) dx

Watch Video Solution

1
x2

110. Evaluate:
∫ dx

Watch Video Solution

e×

(x + 1)2

https://dl.doubtnut.com/l/_dpe1XKr2bbGx
https://dl.doubtnut.com/l/_UTHw36tmLMcd
https://dl.doubtnut.com/l/_pOTyV0QEm2ER
https://dl.doubtnut.com/l/_hd1D1zRoQazy
https://dl.doubtnut.com/l/_h8FM1wbFRZu3


111. Evaluate ∫ ex( )dx.

Watch Video Solution

1 − sin x
1 − cos x

112. Evaluate ∫ dx.

Watch Video Solution

log x

(1 + log x)2

113. Evaluate: ∫  dx

Watch Video Solution

1
x1 / 2 + x1 / 3

114. Evaluate:
∫ dx

Watch Video Solution

x2 − 1

(x4 + 3x2 + 1)tan− 1(x + )1
x

https://dl.doubtnut.com/l/_h8FM1wbFRZu3
https://dl.doubtnut.com/l/_Hc6i3U9S2C2W
https://dl.doubtnut.com/l/_dNeqafiQG3SV
https://dl.doubtnut.com/l/_I2LuueOEHGa4
https://dl.doubtnut.com/l/_5NouRRCydKGg
https://dl.doubtnut.com/l/_UQvbv1PcfQgZ


115. Evaluate:
∫√ dx

Watch Video Solution

1 − √x
1 + √x

116. Evaluate ∫ .

Watch Video Solution

√x2 + 1{loge(x2 + 1) − 2 log x}dx

x4

117. Evaluate: ∫  dx

Watch Video Solution

(x − 1)2

x4 + x2 + 1

118. Evaluate:
∫ ( )dx

Watch Video Solution

1 + x2

x2 − x4

119. If In = ∫cosn xdx. Prove that In = (cosn − 1 x sin x) + ( )In − 2.
1
n

n − 1
n

https://dl.doubtnut.com/l/_UQvbv1PcfQgZ
https://dl.doubtnut.com/l/_TI08OXBfHB3N
https://dl.doubtnut.com/l/_LSCQMMtACfUL
https://dl.doubtnut.com/l/_4p0JGh3Qzbba
https://dl.doubtnut.com/l/_RTagdVH8G0ik


Watch Video Solution

120. Evaluate ∫ .

Watch Video Solution

(1 − x sin x)dx
x(1 − x3e3 cos x)

121. Evaluate:

∫ [(sec− 1 √1 + x2 + cos− 1( )]dx(x > 0).

Watch Video Solution

etan ^ (( − 1)x)
(1 + x2)

1 − x2

1 + x2

122. Evaluate :
∫ dx

Watch Video Solution

2x

(1 − x2)√x4 − 1

123. Evaluate ∫ .

W t h Vid S l ti

xdx
x3√x2 − 1

https://dl.doubtnut.com/l/_RTagdVH8G0ik
https://dl.doubtnut.com/l/_emO45lFHbbgy
https://dl.doubtnut.com/l/_XbfZRGpdeldi
https://dl.doubtnut.com/l/_qfJt3S9GDmlN
https://dl.doubtnut.com/l/_j6N9SDcqnnOC


Watch Video Solution

124. Evaluate ∫√ ⋅ sin− 1( √3 − x)dx

Watch Video Solution

3 − x
3 + x

1

√6

125. Evaluate:
∫ cos 2θ ln( )dthη

Watch Video Solution

cos θ + s∫hη

cos θ − s∫hη

126. Evalaute ∫x_ 1 / 2(2 + 3x1 / 3)
− 2

dx.

View Text Solution

127. Evaluate:
∫ sin− 1( )dx

Watch Video Solution

2x + 2

√4x2 + 8x + 13

https://dl.doubtnut.com/l/_j6N9SDcqnnOC
https://dl.doubtnut.com/l/_Db9JrL8lrG5M
https://dl.doubtnut.com/l/_FFTx5y153VEf
https://dl.doubtnut.com/l/_CkU8FmXoVD8x
https://dl.doubtnut.com/l/_M4gfolBC9EWy


Exercise 7.1

128. Evaluate: for m ∈ N, 
∫x3m + x2n + xm)(2x2m + 3xm + 6) dx, x > 0

Watch Video Solution

1
m

129. Evaluate ∫ .

Watch Video Solution

dx
cos x√cos 2x

130. ∫ [sin(101x) ⋅ sin99 x]dx

Watch Video Solution

1. Evaluate ∫ (sec x + tan x)2dx

Watch Video Solution

https://dl.doubtnut.com/l/_foZfwlk0vXA8
https://dl.doubtnut.com/l/_fMeNkYKNAVGX
https://dl.doubtnut.com/l/_udsrcw19FqeP
https://dl.doubtnut.com/l/_Pl3N54hpA57t


2. Evaluate ∫ (1 − cos x)cosec2xdx

Watch Video Solution

3. Evaluate:
∫ amxbnxdx

Watch Video Solution

4. Evaluate ∫ dx

Watch Video Solution

tan x
sec x + tan x

5. If
∫ dx = f(x) + c, the ≠ valuate∫ dx.

Watch Video Solution

1
x + x5

x4

x + x5

6. Evaluate: (i) ∫  dx
(ii) ∫ (a tan x + b cot x)2 dx
(x3 + 8)(x − 1)

x2 − 2x + 4

https://dl.doubtnut.com/l/_5Q1ffcY73LeW
https://dl.doubtnut.com/l/_v7gks2laLiLu
https://dl.doubtnut.com/l/_D8EuCh4qaKpx
https://dl.doubtnut.com/l/_ulNpeava4NFe
https://dl.doubtnut.com/l/_pYAUThr3cxQU


Exercise 7.2

Watch Video Solution

7. ∫ dx

Watch Video Solution

sin6 x + cos6 x
sin2 x cos2 x

8. Evaluate ∫ tan− 1(sec x + tan x)dx, − π/2 < x < π/2

Watch Video Solution

9. ∫ dx

Watch Video Solution

cos 2x − cos 2α
cos x − cos α

1. Evaluate:
∫
dx

√x + √x − 2

https://dl.doubtnut.com/l/_pYAUThr3cxQU
https://dl.doubtnut.com/l/_Xj2BjCCSWwPX
https://dl.doubtnut.com/l/_2v9dfKKgDQnw
https://dl.doubtnut.com/l/_0oo4iwatRZTL
https://dl.doubtnut.com/l/_xyP7DffKcE5p


Watch Video Solution

2. Evaluate:
∫ (1 + 2x + 3x2 + 4x3 + )dx, ( < |x| < 1)

Watch Video Solution

3. Evaluate:
∫ dx

Watch Video Solution

x3

x + 1

4. Evaluate:
∫ dx

Watch Video Solution

e3x + e5x

ex + e− x

5. Evaluate ∫ tan2 x sin2 xdx

Watch Video Solution

https://dl.doubtnut.com/l/_xyP7DffKcE5p
https://dl.doubtnut.com/l/_VV7dPo6Yxjy3
https://dl.doubtnut.com/l/_exqNSmtYZYfH
https://dl.doubtnut.com/l/_moK2PWzmC6TH
https://dl.doubtnut.com/l/_HWmIs7JFL4c4


Exercise 7.3

6. Evaluate ∫ (2 + 2 sin 2x)dx

Watch Video Solution

cos x − sin x
cos x + sin x

7. Evaluate ∫ sin x cos x cos 2x cos 4x cos 8xdx

Watch Video Solution

1. Evaluate ∫

Watch Video Solution

dx
x + x log x

2. Evaluate ∫ dx

Watch Video Solution

x + 1
x(x loge x)

https://dl.doubtnut.com/l/_UHZwO8ewsiw6
https://dl.doubtnut.com/l/_Uhbm80iq8MM0
https://dl.doubtnut.com/l/_9hsRD4DEOnX7
https://dl.doubtnut.com/l/_o6Azh3Da5799


3. Evaluate: (i) ∫{1 + tan x tan(x + θ)} dx
(ii) ∫  dx

Watch Video Solution

sin 2x

sin(x − )sin(x + )π
6

π
6

4. Evaluate ∫ dx

Watch Video Solution

1 + x2 loge x

x + x2 loge x

5. Evaluate:
∫ dx

Watch Video Solution

(1 + 1nx)5

x

6. I = ∫   dx

Watch Video Solution

loge(loge x)
x(loge x)

https://dl.doubtnut.com/l/_LOIZyOpDpqYr
https://dl.doubtnut.com/l/_L2cSe6nt0Sw7
https://dl.doubtnut.com/l/_TuYeSSMXqbuH
https://dl.doubtnut.com/l/_LFRWskBhK7Ih


7. Evaluate ∫ ( )(x + log x)2dx

Watch Video Solution

x + 1
x

8. Evaluate ∫ dx

Watch Video Solution

√tan x
sin x cos x

9. Evaluate ∫ cosec4xdx

Watch Video Solution

10. Evaluate ∫ dx

Watch Video Solution

sin6 x
cos8 x

https://dl.doubtnut.com/l/_cNgCKuLC8kom
https://dl.doubtnut.com/l/_nBN3Iivwi12n
https://dl.doubtnut.com/l/_W4SxhH6thev4
https://dl.doubtnut.com/l/_6M2PxxjQdwGi


11. Evaluate ∫

Watch Video Solution

dx

(1 + sin x)1 / 2

12. Evaluate: ∫  dx

Watch Video Solution

sin x
sin(x − a)

13. Evaluate ∫ tan3 xdx

Watch Video Solution

14. Evaluate ∫

Watch Video Solution

dx
cot2 x − 1

https://dl.doubtnut.com/l/_kYcvaZYe5Kss
https://dl.doubtnut.com/l/_N0Fm5IxkGrky
https://dl.doubtnut.com/l/_pzRi2bfUniPZ
https://dl.doubtnut.com/l/_WgfdxCpXwhfI


Exercise 7.4

15. Evaluate:
∫ dx

Watch Video Solution

1

x2√1 + x2

16. 1fI = ∫

Watch Video Solution

dx

(2ax + x2)
3
2

1. ∫ dx

Watch Video Solution

sin 2x

(a + b cos x)2

2. Evaluate: ∫ dx

Watch Video Solution

x2 tan− 1 x3

1 + x6

https://dl.doubtnut.com/l/_pC16yTYGe2Fa
https://dl.doubtnut.com/l/_LM1WI6XSrh0v
https://dl.doubtnut.com/l/_xBMQh2X87rKZ
https://dl.doubtnut.com/l/_F3eKLBCq1heX


3. Evaluate:
∫

Watch Video Solution

√xdx
1 + x

4. Evaluate ∫

Watch Video Solution

dx
x + √x

5. Evaluate:
∫ dx

Watch Video Solution

e2x − 2ex

e2x + 1

6. Evaluate: ∫  dx

Watch Video Solution

1
ex + e− x

https://dl.doubtnut.com/l/_F3eKLBCq1heX
https://dl.doubtnut.com/l/_ydzYsd3nROdL
https://dl.doubtnut.com/l/_C624P6w0DHY0
https://dl.doubtnut.com/l/_cUOf7XXrAyNU
https://dl.doubtnut.com/l/_8IcxE8iMZdrS


7. Evaluate:
∫ dx

Watch Video Solution

log(1 + )1
x

x(1 + x)

8. Evaluate:
∫ dx

Watch Video Solution

ax3 + bx
x4 + c2

9. Evaluate:
∫

Watch Video Solution

dx

x (1 + x )
2
3

2
3

10. Evaluate ∫ e3 log x(x4 + 1)
− 1

dx

Watch Video Solution

https://dl.doubtnut.com/l/_ra2aHzEdmDRJ
https://dl.doubtnut.com/l/_ikk1XApEPkor
https://dl.doubtnut.com/l/_srNgvvxN9RlP
https://dl.doubtnut.com/l/_6nAdoLydhjew


11. Evaluate:
∫

Watch Video Solution

sec xdx
√cos 2x

12. Evaluate ∫ sin3 x cos2 xdx

Watch Video Solution

13. Evaluate:
∫

Watch Video Solution

ddx

√1 + x2 + √(1 + x2)3

14. Evaluate:
∫ dx

Watch Video Solution

(x − x3)
1
3

x4

https://dl.doubtnut.com/l/_0nH8PRdKOOzD
https://dl.doubtnut.com/l/_gCkRRFhfI0TQ
https://dl.doubtnut.com/l/_wBnRruLSVksL
https://dl.doubtnut.com/l/_AQOXCkLmaYRR


15. Evaluate:
∫

Watch Video Solution

dx

x2(1 + x5)
4
5

16. Evaluate:
∫

Watch Video Solution

dx

x2(x4 + 1)
3
4

17. Evaluate: ∫  dx

Watch Video Solution

(x4 − x)1 / 4

x5

18. Evaluate:
∫xx1n(ex)dx

Watch Video Solution

https://dl.doubtnut.com/l/_o8zskqdruuZN
https://dl.doubtnut.com/l/_vXwyBsiNvd7s
https://dl.doubtnut.com/l/_V5Q2kWg3kbhz
https://dl.doubtnut.com/l/_VwbCYNEkdQh8


Exercise 7.5

19. Evaluate:
∫

Watch Video Solution

dx
(x − p)√(x − p)(x − q)

20. Evaluate:
∫ dx

Watch Video Solution

[√1 + x2 + x]
n

√1 + x2

1. Evaluate ∫

Watch Video Solution

dx
1 − x − x2

2. Evaluate ∫ dx

Watch Video Solution

x2 − √3x + 1
x4 − x2 + 1

https://dl.doubtnut.com/l/_dp5BKOv7R4dl
https://dl.doubtnut.com/l/_IVw5ZxuBOxsr
https://dl.doubtnut.com/l/_CReNf4YRBlAl
https://dl.doubtnut.com/l/_ya6hQNt069l3


3. Evaluate:
∫ dx

Watch Video Solution

x2

x6 − a6

4. Evaluate: ∫  dx

Watch Video Solution

sin x
cos 2x

5. Evaluate:
∫ dx

Watch Video Solution

ex

e2x + 6ex + 5

6. Evaluate ∫ dx

Watch Video Solution

x2 + x + 1
x2 − 1

https://dl.doubtnut.com/l/_ya6hQNt069l3
https://dl.doubtnut.com/l/_97Agn63TzPDo
https://dl.doubtnut.com/l/_GUfDY0pp7t9i
https://dl.doubtnut.com/l/_cQikSyQr5maw
https://dl.doubtnut.com/l/_cwDsZmslcmrX


Exercise 7.6

7. Evaluate:
∫ dx

Watch Video Solution

1
x4 + 1

8. Evaluate:
∫ dx

Watch Video Solution

1

sin4 x + cos4 x

9. Evaluate:
∫ dx

Watch Video Solution

x4 + 1
x6 + 1

1. Evaluate:
∫ dx

Watch Video Solution

x2

√1 − x6

https://dl.doubtnut.com/l/_xVVvEu5Wdprd
https://dl.doubtnut.com/l/_O0biTFdzhAN7
https://dl.doubtnut.com/l/_w8VljoNErVbQ
https://dl.doubtnut.com/l/_kmU3vSUzkCm6


2. Evaluate:
∫√ dx

Watch Video Solution

x
a3 − x3

3. Evaluate:
 dx

Watch Video Solution

1
√1 − e2x

4. Evaluate:
∫ dx

Watch Video Solution

2x + 3

√x2 + 4x + 1

5. Evaluate:
∫ dx

Watch Video Solution

x
5
2

√1 + x7

https://dl.doubtnut.com/l/_TmeLu7rxJBZh
https://dl.doubtnut.com/l/_rtxXHZ77FhfY
https://dl.doubtnut.com/l/_uVwqx63QN5Bs
https://dl.doubtnut.com/l/_gCvpusVtvjYl


Exercise 7.7

6. Evaluate ∫√1 + cosecxdx, (π /2 < x < π)

Watch Video Solution

1. Evaluate:
∫ dx

Watch Video Solution

1
3 + sin 2x

2. Evaluate:
∫

Watch Video Solution

dx
9 + 16 sin2 x

3. Evaluate: ∫  dx

Watch Video Solution

x + 1

(x − 1)√x + 2

https://dl.doubtnut.com/l/_M7sGK391VXWM
https://dl.doubtnut.com/l/_HnmkBGqbcjX6
https://dl.doubtnut.com/l/_WQBetnXRNCnQ
https://dl.doubtnut.com/l/_4vlX6sDgi6Vo


4. Evaluate ∫

Watch Video Solution

dx
√1 + ex + e2x

5. Evaluate:
∫ dx

Watch Video Solution

1

(x + 1)√x2 − 1

6. Evaluate:
∫ dx

Watch Video Solution

x2 − 1

(x2 + 1)√x4 + 1

7. Evaluate:
∫ dx

Watch Video Solution

x
(x2 + 4)√x2 + 1

https://dl.doubtnut.com/l/_lxuLRhKIcHFM
https://dl.doubtnut.com/l/_6dLtoBk4SImj
https://dl.doubtnut.com/l/_AVBklKcBJ327
https://dl.doubtnut.com/l/_VwV2PE5FXTkS


Exercise 7.8

8. Evaluate:
∫ dx

Watch Video Solution

1

(x + 1)√x2 + x + 1

9. Evaluate: ∫  dx

Watch Video Solution

x − 1

(x + 1)√x3 + x2 + x

10. Evaluate ∫ (√tan x + √cot x)dx

Watch Video Solution

1. Evaluate:
∫ dx

Watch Video Solution

1

(x2 − 4)√x + 1

https://dl.doubtnut.com/l/_UlYbkHDDJ04O
https://dl.doubtnut.com/l/_HMdKarb0jThV
https://dl.doubtnut.com/l/_W3LoPejaO0fL
https://dl.doubtnut.com/l/_wwtCM8xeXwCr


2. Evaluate:
∫ dx

Watch Video Solution

x2 + 1
x(x2 − 1)

3. Evaluate:
∫ dx

Watch Video Solution

1
x4 − 1

4. Evaluate: ∫  dx

Watch Video Solution

x3

(x − 1)(x − 2)

5. Evaluate ∫

Watch Video Solution

dx
sin x(3 + cos2 x)

https://dl.doubtnut.com/l/_S9wpIp4PMyy5
https://dl.doubtnut.com/l/_DJeVQXQXCDyM
https://dl.doubtnut.com/l/_H2DkgRHoloVk
https://dl.doubtnut.com/l/_UEGSn2cOfDU4


Exercise 7.9

6. Evaluate:
∫

Watch Video Solution

cos 2x sin 4xdx
cos4 x(1 + cos2 2x)

7. ∫ dx

Watch Video Solution

1 − cos x
cos x(1 + cos x)

1. Evaluate ∫x sin2 xdx

Watch Video Solution

2. Evaluate ∫ cos √xdx

Watch Video Solution

https://dl.doubtnut.com/l/_Qc26V5nfks84
https://dl.doubtnut.com/l/_qR3DHSlGmSp0
https://dl.doubtnut.com/l/_ZxRwVSC5bWmF
https://dl.doubtnut.com/l/_XIKXiezRyZ4T


3. Evaluate:
∫ tan− 1√xdx

Watch Video Solution

4. Evaluate:
 if ∫ f(x)dx = g(x), then∫ f − 1(x)dx

Watch Video Solution

5. Evaluate ∫ [f(x)gn(x) − f n(x)g(x)]dx

Watch Video Solution

6. Evaluate:
 if ∫g(x)dx = g(x), then∫g(x){f(x) + f ′ (x)}dx

Watch Video Solution

7. Evaluate ∫ (loge x)2dx

https://dl.doubtnut.com/l/_fHDmZHQeSomp
https://dl.doubtnut.com/l/_jEDJnDi2XTgD
https://dl.doubtnut.com/l/_6wsWnniEfeut
https://dl.doubtnut.com/l/_SWmGfNKSo5EN
https://dl.doubtnut.com/l/_RwDMZcrmLoqx


Watch Video Solution

8. ∫ dx

Watch Video Solution

x sin− 1 x
√1 − x2

9. Evaluate:
∫ tan− 1 √ dx

Watch Video Solution

1 − x
1 + x

10. Evaluate:
∫ cos x log(tan )dx

Watch Video Solution

x
2

11. Evaluate:
∫ sin2(log x)dx

Watch Video Solution

https://dl.doubtnut.com/l/_RwDMZcrmLoqx
https://dl.doubtnut.com/l/_K96aNnSBInr6
https://dl.doubtnut.com/l/_reDZjaRmJh0Q
https://dl.doubtnut.com/l/_B0mYsG71PCBq
https://dl.doubtnut.com/l/_fOFxnuRAPG8f


Exercise (Single)

12. Evaluate:
∫ ex(1 + tan x + tan2 x)dx

Watch Video Solution

13. Evaluate:
∫

Watch Video Solution

ex(2 − x2)dx

(1 − x)√1 − x2

14. Evaluate ∫ ( )
2

dx

Watch Video Solution

log x − 1

1 + (log x)2

15. Evaluate ∫√x2 + 2x + 5dx

Watch Video Solution

https://dl.doubtnut.com/l/_g2C5xp049feP
https://dl.doubtnut.com/l/_pJobyy5AGHMA
https://dl.doubtnut.com/l/_zJyQzprrixUW
https://dl.doubtnut.com/l/_XnTYxpw6f4jY


1. ∫ dx =

A. sin 2x + C

B. − sin 2x + C

C. − sin x + C

D. −sin2 x + C

Answer: B

Watch Video Solution

sin8 x − cos8 x
1 − 2 sin2 x cos2 x

1
2

1
2

1
2

2. If ∫ dx = A cos 4x + B,  then 

A. A = − 1/2

B. A = − 1/8

C. A = − 1/4

D. none of these

cos 4x + 1
cot x − tan x

https://dl.doubtnut.com/l/_J2SkldVachro
https://dl.doubtnut.com/l/_wtRE48dZI1wE


Answer: B

Watch Video Solution

3. ∫ (√ + √ )dx  is equal to 

A. 2 sin− 1(x /a) + c

B. 2a sin− 1(x /a) + c

C. 2 cos− 1(x /a) + c

D. 2a cos− 1(x /a) + c

Answer: B

Watch Video Solution

a + x
a − x

a − x
a + x

4. ∫√1 + sin xdx  is equal to 

A. −2√1 − sin x + C

https://dl.doubtnut.com/l/_wtRE48dZI1wE
https://dl.doubtnut.com/l/_xU6LuZ81hgXI
https://dl.doubtnut.com/l/_jWMQ9M9tNcKh


B. sin(x /2) + cos(x /2) + C

C. cos(x /2) − sin(x /2) + C

D. 2√1 − sin x + C

Answer: A

Watch Video Solution

5. Evaluate: ∫  dx

A. cos x + cos 2x − cos 3x + C

B. cos x − cos 2x − cos 3x + C

C. cos x + cos 2x + cos 3x + C

D. cos x − cos 2x + cos 3x + C

Answer: B

Watch Video Solution

(3 sin x − 2)cos x
5 − cos2 x − 4 sin x

1
2

1
3

1
2

1
3

1
2

1
3

1
2

1
3

https://dl.doubtnut.com/l/_jWMQ9M9tNcKh
https://dl.doubtnut.com/l/_uYL4dewQktCP
https://dl.doubtnut.com/l/_M2EmLZXUQNfT


6. If ∫√1 + sin xf(x)dx = (1 + sin x)3 / 2 + c,  then f(x)  equals 

A. cos x

B. sin x

C. tan x

D. 1

Answer: A

Watch Video Solution

2
3

7. ∫ dx  is equal to 

A. ln ∣∣x − √x2 − 1∣∣ − tan− 1 x + c

B. In ∣∣x + √x2 − 1∣∣ − tan− 1 x + c

C. In ∣∣x − √x2 − 1∣∣ − sec− 1 x + c

D. In ∣∣x + √x2 − 1∣∣ − sec− 1 x + c

√x − 1
x√x + 1

https://dl.doubtnut.com/l/_M2EmLZXUQNfT
https://dl.doubtnut.com/l/_0APK7qn6nkVr


Answer: D

Watch Video Solution

8. IfI = ∫ , thenIequals

(cos x + sin x − log(cos ecx − cos x)) + C

(sin x − cos x − log|cos ecx + cot x|) + C

(sin x + cos x + log|cos ecx − cos x|)

[sin x − cos x] − log ∣ cos ec(x + )

A. (cos x + sin x − log(cosecx − cos x)) + C

B. (sin x − cos x − log|cosecx − cot x|) + C

C. (sin x + cos x + log|cosecx − cos x|) + C

D. [sin x − cos x] − log|cosec(x + π/4) − cot(x + π/4)| + C

Answer: D

Watch Video Solution

dx
sec x + cos ecx

1
2

1

√2

1
2

1

√2
1

√2

1
2

1
2

1

√2
π
4

1
2

1
√2

1
2

1
√2

1
√2

1
2

1
2

1
√2

https://dl.doubtnut.com/l/_0APK7qn6nkVr
https://dl.doubtnut.com/l/_wwxvV4wAipzg


9. ∫ dx  is equal to 

A. (x + loge
∣
∣

cos(x − )∣
∣

) + c

B. (x − loge
∣
∣

sin(x − )∣
∣

) + c

C. √2(x + loge
∣
∣

sin(x − )∣
∣

) + c

D. (x + loge
∣
∣

sin(x − )∣
∣

) + c

Answer: D

Watch Video Solution

sin x

sin(x − )π
4

1
√2

π
4

1
√2

π
4

π
4

1
√2

π
4

10. ∫ dx

A. + cos x + c

B. − cos x + c

C. − − sin x + c

cos 5x + cos 4x
1 − 2 cos 3x

sin 2x
2

sin 2x
2

sin 2x
2

https://dl.doubtnut.com/l/_wwxvV4wAipzg
https://dl.doubtnut.com/l/_WS7nrH3VtIo4
https://dl.doubtnut.com/l/_FmgbPcq5lDP8


D. − cos x + c

Answer: C

Watch Video Solution

sin 2x
2

11. If I = ∫√ dx,  then I  equals

A. √x + 2√5 − x + 3 sin− 1 √ + C

B. √x + 2√5 − x + 7 sin− 1 √ + C

C. √x + 2√5 − x + 5 sin− 1 √ + C

D. non of these

Answer: B

Watch Video Solution

5 − x
2 + x

x + 2
3

x + 2
7

x + 2
5

12. ∫ dx is equal to
sin 2x

sin 5x sin 3x

https://dl.doubtnut.com/l/_FmgbPcq5lDP8
https://dl.doubtnut.com/l/_DcSAeb62Wl6l
https://dl.doubtnut.com/l/_uZuMpmAGzO3R


A. log sin 3x − log sin 5x + c

B. log sin 3x + log sin 5x + c

C. log sin 3x − log sin 5x + c

D. 3 log sin 3x − 5 log sin 5x + c

Answer: C

Watch Video Solution

1
3

1
5

1
3

1
5

13. ∫  is equal to

A. log( ) + c

B. log( ) + c

C. log( ) + c

D. non of these

Answer: A

Watch Video Solution

dx
x(xn + 1)

1
n

xn

xn + 1

1
n

xn + 1
xn

xn

xn + 1

https://dl.doubtnut.com/l/_uZuMpmAGzO3R
https://dl.doubtnut.com/l/_ynKlkmH88I9l


14. Evaluate: ∫  dx,  α ≠ nπ,   n ∈ Z

A. −2cosecα(cos α − tan x sin α)1 / 2 + C

B. −2(cos α + cot x sin α)1 / 2 + C

C. −2cosecα(cos α − cot x sin α)1 / 2 + C

D. −2cosecα(sin α − cot x cos α)1 / 2 + C

Answer: C

Watch Video Solution

1

√sin3 x sin(x + α)

15. ∫ dx is equal to 


(1)   − + C   
(2)    + C    


(3)   − + C   
(4)    + C   

A. − + C

pxp + 2q − 1 − qxq − 1

x2p + 2q + 2xp + q + 1
xp

xp + q + 1
xq

xp + q + 1
xq

xp + q + 1
xp

xp + q + 1

xp

xp + q + 1

https://dl.doubtnut.com/l/_ynKlkmH88I9l
https://dl.doubtnut.com/l/_8GkFKOKSnHZU
https://dl.doubtnut.com/l/_XNLAvmkKO17j


B. + C

C. − + C

D. + C

Answer: C

Watch Video Solution

xq

xp + q + 1

xq

xp + q + 1

xp

xp + q + 1

16. If y = ∫ dx and y = 0 when x = 0 , then value of y when 

x = 1 is

A. 

B. √2

C. 2√2

D. none of these

Answer: A

Watch Video Solution

1

(1 + x2)
3
2

1
√2

https://dl.doubtnut.com/l/_XNLAvmkKO17j
https://dl.doubtnut.com/l/_sc8RmoXEwFkn


17. ∫√x(1 + x1 / 3)
4
dx  is equal to 

A. 2{x2 / 3 + x11 / 6 + x13 / 6 + x5 / 2 + x17 / 6} + c

B. 6{x2 / 3 − x11 / 6 + x13 / 6 − x5 / 2 + x17 / 6} + c

C. 6{ x3 / 2 + x11 / 6 + x13 / 6 + x5 / 2 + x17 / 6} + c

D. non of these

Answer: C

Watch Video Solution

4
11

6
13

4
15

1
17

4
11

6
13

4
15

1
17

1
9

4
11

6
13

4
15

1
17

18. ∫ dx  is equal to 

A. In(tan x) + c

B. In(tan2 x) + c

C. (In(tan x))2 + c

In(tan x)
sin x cos x

1
2

1
2

1
2

https://dl.doubtnut.com/l/_sc8RmoXEwFkn
https://dl.doubtnut.com/l/_ELlV2S6TQGuC
https://dl.doubtnut.com/l/_3RgbfAWezSwj


D. non of these

Answer: C

Watch Video Solution

19. If m is a non-zero number and ∫ dx = f(x) + c, then

f(x) is:

A. + c

B. + c

C. + c

D. + c

Answer: B

Watch Video Solution

x5m − 1 + 2x4m − 1

(x2m + xm + 1)3

x6m + x2m

2m(x2m + xm + 1)2

x4m

2m(x2m + xm + 1)2

2mx4m

(x2m + xm + 1)2

mx5m

2(x2m + xm + 1)2

https://dl.doubtnut.com/l/_3RgbfAWezSwj
https://dl.doubtnut.com/l/_LToSo72jADP4


20. If lr(x) means log log log....... x being repeated r times, then 

∫ [(xl(x)l2(x)l3(x).... lr(x)]− 1dx is equal to :

A. lr + 1(x) + C

B. + C

C. lr(x) + C

D. non of these

Answer: A

Watch Video Solution

lr + 1(x)
r + 1

21. If I = ∫ (√cot x − √tan x)dx,  then I equals

A. √2 log(√tan x − √cot x) + C

B. √2 log∣∣sin x + cos x + √sin 2x∣∣ + C

C. √2 log∣∣sin x − cos x + √2 sin x cos x∣∣ + C

https://dl.doubtnut.com/l/_EJ3kSH3gdeEU
https://dl.doubtnut.com/l/_Xyz1O2czvUzv


D. √2 log∣∣sin(x + π/4) + √2 sin x cos x∣∣ + C

Answer: B

Watch Video Solution

22. If I = ∫ dx,  then I equals

A. + C

B. + C

C. + C

D. + C

Answer: B

Watch Video Solution

sin 2x

(3 + 4 cos x)3

3 cos x + 8

(3 + 4 cos x)2

3 + 8 cos x

16(3 + 4 cos x)2

3 + cos x

(3 + 4 cos x)2

3 − 8 cos x

16(3 + 4 cos x)2

23. ∫ dx is equal to
In( )x − 1

x + 1

x2 − 1

https://dl.doubtnut.com/l/_Xyz1O2czvUzv
https://dl.doubtnut.com/l/_eWcQAAONXfb7
https://dl.doubtnut.com/l/_knwAytBuf9mg


A. (In( ))
2

+ C

B. (In( ))
2

+ C

C. (In( ))
2

+ C

D. (In( ))

Answer: C

Watch Video Solution

1
2

x − 1
x + 1

1
2

x + 1
x − 1

1
4

x − 1
x + 1

1
4

x + 1
x − 1

24. ∫√ex − 1dx is equal to

A. 2[√ex − 1 − tan− 1 √ex − 1] + c

B. √ex − 1 − tan− 1 √ex − 1 + c

C. √ex − 1 + tan− 1 √ex − 1 + c

D. 2[√ex − 1 + tan− 1 √ex − 1] + c

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_knwAytBuf9mg
https://dl.doubtnut.com/l/_yA7ir1VpbTND


25. ∫√ dx =

A. loge
∣
∣
∣

∣
∣
∣

+ sin− 1(x2) + C

B. loge
∣
∣
∣

∣
∣
∣

+ cos− 1(x2) + C

C. loge
∣
∣
∣

∣
∣
∣

+ sin− 1(x2) + C

D. loge
∣
∣
∣

∣
∣
∣

+ cos− 1(x2) + C

Answer: A

Watch Video Solution

x2 + 1
x2(1 − x2)

1
4

1 − √1 − x4

1 + √1 − x4

1
2

1
2

1 − √1 − x4

1 + √1 − x4

1
2

1
2

1 − √1 − x4

1 + √1 − x4

1 − √1 − x4

1 + √1 − x4

1
2

26. ∫ dx is equal to

A. √x2 + 10x + 24 + sec− 1(x + 5) + c

B. √x2 + 10x + 24 − cosec − 1(x + 5) + c

C. sec− 1(x + 5) − √x2 + 10x + 24 + c

√x2 + 10x + 24
x + 5

https://dl.doubtnut.com/l/_yA7ir1VpbTND
https://dl.doubtnut.com/l/_xX2q7XvKVMPs
https://dl.doubtnut.com/l/_IzsrvU1k3J5O


D. √x2 + 10x + 24 − sec− 1(x + 5) + c

Answer: D

Watch Video Solution

27. The value of ∫ dx  is 

A. sec− 1(xx) + c

B. tan− 1(xx) + c

C. log(xx + √x2x − 1) + c

D. cot − 1(xx) + c

Answer: A

Watch Video Solution

1 + log x

√(xx)2 − 1

28. If ∫x5(1 + x3)2 / 3dx = A(1 + x3)8 / 3 + B(1 + x3)5 / 3 + c,  then 

https://dl.doubtnut.com/l/_IzsrvU1k3J5O
https://dl.doubtnut.com/l/_6sYAHwrjnkSg
https://dl.doubtnut.com/l/_ne7zSWnfL4a0


A. A = , B =

B. A = , B = −

C. A = − , B =

D. non of these

Answer: B

Watch Video Solution

1
4

1
5

1
8

1
5

1
8

1
5

29. ∫ dx

A. cot − 1(tan2 x) + c

B. tan− 1(tan2 x) + c

C. cot − 1(cot2 x) + c

D. tan− 1(cot2 x) + c

Answer: B

Watch Video Solution

sin 2x

sin4 x + cos4 x

https://dl.doubtnut.com/l/_ne7zSWnfL4a0
https://dl.doubtnut.com/l/_AcN7fqke8bQg


30. ∫ dx  is equal to

A. tan− 1( )

B. tan− 1( )

C. tan− 1( )

D. none of these

Answer: B

Watch Video Solution

x + 2

(x2 + 3x + 3)√x + 1

1

√3
x

√3(x + 1)

2

√3
x

√3(x + 1)

2

√3
x

√x + 1

31. ∫  is equal to 

A. √tan x cos A − sin A + c

B. √2 sec A√tan x cos A − sin A + c

C. √2 sec A√tan x cos A + sin A + c

sec xdx
√sin(2x + A) + sin A

sec A
√2

https://dl.doubtnut.com/l/_AcN7fqke8bQg
https://dl.doubtnut.com/l/_DtQ4ZQQATVqt
https://dl.doubtnut.com/l/_OOiXCQLujr3Y


D. non of these

Answer: C

Watch Video Solution

32. ∫ dx, x ∈ (0, ) is equal to

A. loge|1 + ex sin x| + c

B. loge|ex + cos x| + c

C. loge|1 + ex cos x| − x + c

D. loge|1 + ex cos x| + c

Answer: D

Watch Video Solution

cos 2x

(e− x + cos x)√1 + sin 2x
π
2

33. ∫ dx is equal to
cos 4x − 1

cot x − tan x

https://dl.doubtnut.com/l/_OOiXCQLujr3Y
https://dl.doubtnut.com/l/_hj7HAfIIg58h
https://dl.doubtnut.com/l/_TsITxwYSqU02


A. In|sec 2x| − cos2 2x + c

B. In|sec 2x| + cos2 x + c

C. In|cos 2x| − cos2 2x + c

D. In|cos 2x| + cos2 x + c

Answer: C

Watch Video Solution

1
2

1
4

1
2

1
4

1
2

1
4

1
2

1
4

34. If ∫ = − (f(x)) + C then f(x) is (A) 1 + xn (B) 1 + x− n

(C) xn + x− n (D) xn − x− n

A. (1 + xn)

B. 1 + x− n

C. xn + x− n

D. non of these

Answer: B

dx

x2(xn + 1)
n − 1

n

1
n

https://dl.doubtnut.com/l/_TsITxwYSqU02
https://dl.doubtnut.com/l/_ykKd9tdgSq0U


Watch Video Solution

35. ∫√ dx is equal to

A. sin− 1(cos3 / 2 x) + C

B. sin− 1(cos3 / 2 x) + C

C. cos− 1(cos3 / 2 x) + C

D. non of these

Answer: C

Watch Video Solution

cos x − cos3 x
1 − cos3 x

2
3

3
2

2
3

36. ∫x(( + )dx(wherea, b ∈ R+ )isequa < o

a2xb3x + k
 + k

ln(a2xb3x) + k
− ln(a2xb3x) + k

ln a
x
2

3a b3x
5x
2

ln bb ^ x
2a2xb4x

1

6ln a2b3

ln(a2xb3x)
e

1

6ln a2b3

1
a2xb3x

ln 1
ea2xb3x

1

6ln a2b3

1
a2xb3x

1

6ln a2b3

1
a2xb3x

https://dl.doubtnut.com/l/_ykKd9tdgSq0U
https://dl.doubtnut.com/l/_LDHpP9xydK54
https://dl.doubtnut.com/l/_hLxMiIE4BCVz


A. a2xb3xIn + k

B. In + k

C. In(a2xb3x) + k

D. − In(a2xb3x) + k

Answer: B

Watch Video Solution

1
6Ina2b3

a2xb3x

e
1

6Ina2b3

1
a2xb3x

1
ea2xb3x

1
6Ina2b3

1
a2xb3x

1
6Ina2b3

1
a2xb3x

37. ∫ dx is equal to

A. ( ) + c

B. ( ) + c

C. ( ) + c

D. ( ) + c

Answer: A

Watch Video Solution

3 + 2 cos x

(2 + 3 cos x)2

sin x
3 cos x + 2

2 cos x
3 sin x + 2

2 cos x
3 cos x + 2

2 sin x
3 sin x + 2

https://dl.doubtnut.com/l/_hLxMiIE4BCVz
https://dl.doubtnut.com/l/_UCdVFhqLvkOV


38. If f(x) = f' (x),  then ∫ dx is equal to

A. + c

B. |x|f' (x) + c

C. + c

D. |x|√f(x) + c

Answer: C

Watch Video Solution

d
dx

xf' (x) − 2f(x)

√x4f(x)

x2

f(x)

2√f(x)

|x|

39. The value of the integral ∫ dthηis
 (tan ) + C
 (b) 

( ) + C
 (s∫h ) + C
(d)
none of these

A. (tan ) + C

B. (cos ) + C

(1 − cos θ)
2
7

(1 + cos θ)
9
7

7
11

θ
2

11
7

7
11

cos θ
2

11
7 7

11
η
2

11
7

7
11

θ
2

11
7

7
11

θ
2

11
7

https://dl.doubtnut.com/l/_UCdVFhqLvkOV
https://dl.doubtnut.com/l/_6by3jjFapyya
https://dl.doubtnut.com/l/_o2xuteSvvTw1


C. (sin ) + C

D. none of these

Answer: A

Watch Video Solution

7
11

θ
2

11
7

40. If ∫ = a√cot x + b√tan3 x + c,  then

A. a = − 1, b = 1/3

B. a = − 3, b = 2/3

C. a = − 2, b = 4/3

D. a = − 2, b = 2/3

Answer: D

Watch Video Solution

dx

√sin3 x cos5 x

https://dl.doubtnut.com/l/_o2xuteSvvTw1
https://dl.doubtnut.com/l/_j61UhyNEBpv2


41. I f∫ = a(tan2 x + b)√tan x + c

A. a = , b =

B. a = , b = 5

C. a = , b = −

D. a = , b = √5

Answer: B

Watch Video Solution

dx
cos3 x√sin 2x

√2
5

1
√5

√2
5

√2
5

1
√5

√2
5

42. If ∫ = a log∣∣1 + x2∣∣ + b tan− 1 x + log|x + 2| + C,

then

A. a = − , b = −

B. a = , b = −

C. a = − , b =

dx
(x + 2)(x2 + 1)

1
5

1
10

2
5

1
10

2
5

1
10

2
5

https://dl.doubtnut.com/l/_TdmL27ssXOC4
https://dl.doubtnut.com/l/_xMV9KdvDWeki


D. a = , b =

Answer: C

Watch Video Solution

1
10

2
5

43. If∫ dx = ax + b ln(4ex + 5e− x) + C, then
 a = − , b =

(b) a = , b = 
a = − , b = − 
(d) a = , b = −

A. a = − , b =

B. a = , b =

C. a = − , b = −

D. a = , b = −

Answer: A

Watch Video Solution

3ex − 5e− 1

4ex + 5e− x
1
8

7
8

1
8

7
8

1
8

7
8

1
8

7
8

1
8

7
8

1
8

7
8

1
8

7
8

1
8

7
8

https://dl.doubtnut.com/l/_xMV9KdvDWeki
https://dl.doubtnut.com/l/_dZH4jikk6eIq


44. If ∫ f(x)sin x cos xdx = In f(x) + c,  then f(x) is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1
2(b2 − a2)

1

a2 sin2 x + b2 cos2 x
1

a2 sin2 x − b2 cos2 x
1

a2 cos2 x + b2 sin2 x
1

a2 cos2 x − b2 sin2 x

45. ∫ dx is equal to

A. (4 + )
− 5

+ C

B. (4 + )
− 5

+ C

C. (1 + 4x2)− 5 + C

D. (4 + )
− 5

+ C

x9

(4x2 + 1)6

1
5x

1
x2

1
5

1
x2

1
10

1
10

1
x2

https://dl.doubtnut.com/l/_8519WX64HN0W
https://dl.doubtnut.com/l/_6iAwES5kOSKw


Answer: D

Watch Video Solution

46. If ∫ dx = a log
∣
∣
∣

∣
∣
∣

+ b, thenaisequal
 
 (b) 

(c) − 
(d0 −

A. 1/3

B. 2/3

C. −1/3

D. −2/3

Answer: A

Watch Video Solution

1

x√1 − x3

√1 − x3 − 1
√1 − x3 + 1

1
3

2
3

1
3

2
3

47. The value of the integral ∫ (x2 + x)(x− 8 + 2x− 9) dx
 is


(x2 + 2x) + c
(b) (x + 1x) + c
 (x + 1) + c
(d) none of
these

1
10

5
11

11
10

5
6

11
10

6
7

11
10

https://dl.doubtnut.com/l/_6iAwES5kOSKw
https://dl.doubtnut.com/l/_gnPQgxUsTjw1
https://dl.doubtnut.com/l/_TdOxonh1FPXY


A. (x2 + 2x)
11 / 10

+ c

B. (x + 1)11 / 10 + c

C. (x + 1)11 / 10 + c

D. none of these

Answer: A

Watch Video Solution

5
11

5
6

6
7

48. ∫ isequa < o
 √1 + x2(2 + x2) + C
 √1 + x2(x2 − 1) + C

(1 + x2) + C
(d) √1 + x2(x2 − 2) + C

A. √1 + x2(2 + x2) + C

B. √1 + x2(x2 − 1) + C

C. (1 + x2)3 / 2 + C

D. √1 + x2(x2 − 2) + C

Answer: D

x3dx
√1 + x2

1
3

1
3

1
3

3
2

1
3

1
3
1
3
1
3
1
3

https://dl.doubtnut.com/l/_TdOxonh1FPXY
https://dl.doubtnut.com/l/_Y3aUzi17CpA2


Watch Video Solution

49. If I = ∫ , then I equals

A. + C

B. + C

C. + C

D. none of these

Answer: B

Watch Video Solution

dx

(a2 − b2x2)3 / 2

x
√a2 − b2x2

x
a2√a2 − b2x2

ax
√a2 − b2x2

50. ∫

A. √x2 + + 1 + C

B. + C

(x4 − 1)dx

x2√x4 + x2 + 1

1
x2

√x4 + x2 + 1
x2

https://dl.doubtnut.com/l/_Y3aUzi17CpA2
https://dl.doubtnut.com/l/_6lIPnbg9A6sb
https://dl.doubtnut.com/l/_E0dDcRV40yFF


C. + C

D. none of these

Answer: A

Watch Video Solution

√x4 + x2 + 1
x

51. ∫ dx =

A. − + C

B. x3(x2 + 1)− 1 / 2 + C

C. + C

D. − + C

Answer: A

Watch Video Solution

√x2 + 1
x4

1
3

(x2 + 1)3 / 2

x3

√x2 + 1
x2

1
3

(x2 + 1)3 / 2

x2

https://dl.doubtnut.com/l/_E0dDcRV40yFF
https://dl.doubtnut.com/l/_8MgxFMb86n9V


52. ∫ dx is equal to

A. + c

B. + c

C. + c

D. + C

Answer: B

Watch Video Solution

1 + 2x6

(1 − x6)3 / 2

2x

√1 + x6

1

√ − x41
x2

x

√ − x41
x2

x2 + x
√1 − x6

53. The integral ∫ dx
is equal to:

A. + c

B. + c

C. + c

2x12 + 5x9

(x5 + x3 + 1)3

x10

2(1 + x3 + x5)4

x2 + 2x

(x5 + x3 + 1)4

x10

2(x5 + x3 + 1)2

https://dl.doubtnut.com/l/_eliee2jTXQhw
https://dl.doubtnut.com/l/_sUYxWKpGN4ql


D. + c

Answer: C

Watch Video Solution

2x10

(x5 + x3 + 1)3

54. If In = ∫(ln x)ndx then In + nIn − 1

A. + C

B. x(In x)n − 1 + C

C. x(In x)n + C

D. none of these

Answer: C

Watch Video Solution

(In x)n

x

55. ∫ ex{f(x) − f' (x)}dx = ϕ(x), then ∫ exf(x)dx is

https://dl.doubtnut.com/l/_sUYxWKpGN4ql
https://dl.doubtnut.com/l/_Po1VCcFiGXdM
https://dl.doubtnut.com/l/_Xjqh3DBuaV3E


A. ϕ(x) = exf(x)

B. ϕ(x) − exf(x)

C. {ϕ(x) + exf(x)}

D. {ϕ(x) + exf' (x)}

Answer: C

Watch Video Solution

1
2

1
2

56. For x > 1, ∫ sin− 1( )dx is equal to

A. x tan− 1 x − In∣∣sec(tan− 1 x)∣∣ + c

B. x tan− 1 x + In∣∣sec(tan− 1 x)∣∣ + c

C. x tan− 1 x − In∣∣cos(tan− 1 x)∣∣ + c

D. none of these

Answer: D

Watch Video Solution

2x
1 + x2

https://dl.doubtnut.com/l/_Xjqh3DBuaV3E
https://dl.doubtnut.com/l/_tkBMy372rk89


57. If ∫x
⎛

⎜
⎜
⎝

⎞

⎟
⎟
⎠

dx = a√1 + x2 ln(x + √1 + x2) + bx + c then

A. a = 1, b = − 1

B. a = 1, b = 1

C. a = − 1, b = 1

D. a = − 1, b = − 1

Answer: A

Watch Video Solution

ln(x + √1 + x2)

√1 + x2

58. If∫x log(1 + )dx = f(x)log(x + 1) + g(x)x2 + Ax + C, 
 then


f(x) = x2
(b) g(x) = log x
A = 1
(d) none of these

A. f(x) = x2

B. g(x) = log x

1
x

1
2

1
2

https://dl.doubtnut.com/l/_tkBMy372rk89
https://dl.doubtnut.com/l/_nfzBGm2DMAYN
https://dl.doubtnut.com/l/_HEFwxc2B935B


C. A = 1

D. none of these

Answer: D

Watch Video Solution

59. If I = ∫e− x log(ex + 1)dx, thenIequal
 a + (e− x + 1)log(ex + 1) + C

a + (ex + 1)log(ex + 1) + C
a − (e− x + 1)log(ex + 1) + C
none of these

A. x + (e− x + 1)log(ex + 1) + C

B. x + (ex + 1)log(ex + 1) + C

C. x − (e− x + 1)log(ex + 1) + C

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HEFwxc2B935B
https://dl.doubtnut.com/l/_YKWLfbkpfQMB
https://dl.doubtnut.com/l/_jWAud8Vs2a9I


60. If ∫xex cos xdx = aex(b(1 − x)sin x + cx cos x) + d,  then

A. a = 1, b = 1, c = − 1

B. a = , b = − 1, c = 1

C. a = 1, b = − 1, c = 1

D. a = , b = 1, c = − 1

Answer: B

Watch Video Solution

1
2

1
2

61. ∫x sin x sec3 xdx is equal to

A. [sec2 x − tan x] + c

B. [x sec2 x − tan x] + c

C. [x sec2 x + tan x] + c

D. [sec2 x + tan x] + c

1
2

1
2

1
2

1
2

https://dl.doubtnut.com/l/_jWAud8Vs2a9I
https://dl.doubtnut.com/l/_GHpziuSfqOn2


Answer: B

Watch Video Solution

62. ∫ etan− 1 x(1 + x + x2)d(cot − 1 x) is equal to

A. −etan− 1 x + c

B. etan− 1 x + c

C. −xetan− 1 x + c

D. xetan− 1 x + c

Answer: C

Watch Video Solution

63. ∫ ex( + cot2(x + ))dx is equal to

A. ex tan( − x) + c

2 tan x
1 + tan x

π
4

π
4

https://dl.doubtnut.com/l/_GHpziuSfqOn2
https://dl.doubtnut.com/l/_u6S4vC7jWmMu
https://dl.doubtnut.com/l/_Z2jjFlJefkeE


B. ex tan(x − ) + c

C. ex tan( − x) + c

D. none of these

Answer: B

Watch Video Solution

π
4

3π
4

64. ∫ ex4
(x + x3 + 2x5)ex2

dx is equal to

A. xex2
ex4

+ c

B. x2ex4
+ c

C. ex2
ex4

+ c

D. x2ex2
ex4

+ c

Answer: D

Watch Video Solution

1
2

1
2

1
2

1
2

https://dl.doubtnut.com/l/_Z2jjFlJefkeE
https://dl.doubtnut.com/l/_TDILRMBZ3l9M
https://dl.doubtnut.com/l/_AS6ps6qDzpYP


65. The value of integral ∫ ex
⎛

⎜
⎜
⎝

+
⎞

⎟
⎟
⎠

dxisequa < o

ex
⎛

⎜
⎜
⎝

+
⎞

⎟
⎟
⎠

+ c
 ex
⎛

⎜
⎜
⎝

−
⎞

⎟
⎟
⎠

+ c

ex
⎛

⎜
⎜
⎝

+
⎞

⎟
⎟
⎠

+ c
none of these

A. ex
⎛

⎜
⎜
⎝

+
⎞

⎟
⎟
⎠

+ c

B. ex
⎛

⎜
⎜
⎝

−
⎞

⎟
⎟
⎠

+ c

C. ex
⎛

⎜
⎜
⎝

+
⎞

⎟
⎟
⎠

+ c

D. none of these

Answer: A

Watch Video Solution

1
√1 + x2

1

√(1 + x2)5

1

√1 + x2

1

√(1 + x2)3

1

√1 + x2

1

√(1 + x2)3

1

√1 + x2

1

√(1 + x2)5

1
√1 + x2

x

√(1 + x2)3

1

√1 + x2

x

√(1 + x2)3

1

√1 + x2

x

√(1 + x2)5

https://dl.doubtnut.com/l/_AS6ps6qDzpYP


66. ∫ ex dx is equal to

A. ( )ex + c

B. ex( ) + c

C. ex(x + 1)(x − 1) + c

D. none of these

Answer: A

Watch Video Solution

(x2 + 1)

(x + 1)2

x − 1
x + 1

x + 1
x − 1

67. ∫ ( )
2

exdx is equal to

A. ex( ) + c

B. ex( ) + c

C. ex( ) + c

D. ( ) + c

x + 2
x + 4

x
x + 4

x + 2
x + 4

x − 2
x + 4

2xe2

x + 4

https://dl.doubtnut.com/l/_0488ozHWriKg
https://dl.doubtnut.com/l/_XBjn5CUChx5R


Answer: A

Watch Video Solution

68. ∫ etan x(sin x − sec x)dx is equal to

A. etan x cos x + C

B. etan x sin x + C

C. −etan x cos x + C

D. etan x sec x + C

Answer: C

Watch Video Solution

69. ∫ . dx

A. + c

cos ec2x − 2005
cos2005 x

cot x

(cos x)2005

https://dl.doubtnut.com/l/_XBjn5CUChx5R
https://dl.doubtnut.com/l/_l6SbcuAdA3EE
https://dl.doubtnut.com/l/_ipqJCmbEO95E


B. + c

C. + c

D. none of these

Answer: D

Watch Video Solution

tan x

(cos x)2005

−(tan x)

(cos x)2005

70. ∫ (1 + 2x2 + )ex2 + dx is equal to

A. −xex2 − + c

B. xex2 − + c

C. (2x − 1)ex2 − + c

D. (2x + 1)ex2 − + c

Answer: B

Watch Video Solution

1
x

1
x

1
x

1
x

1
x

1
x

https://dl.doubtnut.com/l/_ipqJCmbEO95E
https://dl.doubtnut.com/l/_TSkvUPZZ3Y6g
https://dl.doubtnut.com/l/_sofG06AxgT8o


71. ∫ esin− 1 x( + )dx is equal to

A. loge x ⋅ esin− 1 x + c

B. + c

C. −loge x ⋅ esin− 1 x + c

D. esin− 1 x(loge x + ) + c

Answer: A

Watch Video Solution

loge x

√1 − x2

1
x

esin− 1 x

x

1
x

72. Ifxf(x) = 3f 2(x) + 2, then∫ dx equal.

A. + c

B. + c

C. + c

D. + c

2x2 − 12xf(x) + f(x)

(6f(x) − x)(x2 − f(x))2

1
x2 − f(x)

1
x2 + f(x)

1
x − f(x)

1
x + f(x)

https://dl.doubtnut.com/l/_sofG06AxgT8o
https://dl.doubtnut.com/l/_7FBoU51SX7bU


Answer: A

Watch Video Solution

73. The value of ∫  is equal to

A. sin− 1(ax + ) + k

B. c sin− 1(a + ) + k

C. sin− 1( ) + k

D. none of these

Answer: C

Watch Video Solution

(ax2 − b)dx

x√c2x2 − (ax2 + b)2

1
c

b
x

b
x

ax + b
x

c

74. The value of ∫  is equal todx

(1 + √x)(√x − x2)

https://dl.doubtnut.com/l/_7FBoU51SX7bU
https://dl.doubtnut.com/l/_Oq2665Qmgi4C
https://dl.doubtnut.com/l/_Gbj9jgiCda7u


A. + c

B. + c

C. + c

D. + c

Answer: D

Watch Video Solution

1 + √x

(1 − x)2

1 + √x

(1 + x)2

1 − √x

(1 − x)2

2(√x − 1)

√(1 − x)

75. ∫  dx

A. In∣∣
∣

∣
∣
∣

− tan− 1( ) + c

B. In∣∣
∣

∣
∣
∣

− tan− 1( ) + c

C. In∣∣
∣

∣
∣
∣

− tan− 1( ) + c

D. none of these

Answer: C

W t h Vid S l ti

2 sin x
3 + sin 2x

1
2

2 + sin x − cos x
2 − sin x + cos x

1

√2

sin x + cos x

√2

1
2

2 + sin x − cos x
2 − sin x + cos x

1

2√2

sin x + cos x

√2

1
4

2 + sin x − cos x
2 − sin x + cos x

1

√2

sin x + cos x

√2

https://dl.doubtnut.com/l/_Gbj9jgiCda7u
https://dl.doubtnut.com/l/_Nytys5fAduPp


Watch Video Solution

76. 4∫ dx is equal to

A. √a6 + x8 + In
∣
∣
∣

∣
∣
∣

+ c

B. a6In
∣
∣
∣

∣
∣
∣

+ c

C. √a6 + x8 + In
∣
∣
∣

∣
∣
∣

+ c

D. a6In
∣
∣
∣

∣
∣
∣

+ c

Answer: C

Watch Video Solution

√a6 + x8

x

a3

2
√a6 + x8 + a3

√a6 + x8 − a3

√a6 + x8 − a3

√a6 + x8 + a3

a3

2
√a6 + x8 − a3

√a6 + x8 + a3

√a6 + x8 + a3

√a6 + x8 − a3

77. IfIm , n = ∫cosm x sin nxdx, then7I4 , 3 − 4I3 , 2isequa < o
 constant (b) 

−cos2 x + C
−cos4 x cos 3x + C
(d) cos 7x − cos 4x + C

A. constant

B. −cos2 x + C

https://dl.doubtnut.com/l/_Nytys5fAduPp
https://dl.doubtnut.com/l/_6606S7H8Wabg
https://dl.doubtnut.com/l/_GhipvdZTkpYm


Exercise (Multiple)

C. −cos4 x cos 3x + C

D. cos 7x − cos 4x + C

Answer: C

Watch Video Solution

1. ∫ =

A. 2 sec− 1 √2ex + c

B. −2tan− 1 + c

C. 2 sec− 1(√2ex) + c

D. 2 tan− 1 √2ex − 1 + c

Answer: A::B::D

Watch Video Solution

dx
√2ex − 1

1
√2ex − 1

https://dl.doubtnut.com/l/_GhipvdZTkpYm
https://dl.doubtnut.com/l/_N9cJlnxFPVFx


2. If ∫ sin xd(sec x) = f(x) − g(x) + c,  then

A. f(x) = sec x

B. f(x) = tan x

C. g(x) = 2x

D. g(x) = x

Answer: B::D

Watch Video Solution

3. ∫√1 + cos ecxdxequals
 2 sin− 1 √sin x + c
 (b) √2 cos− 1 √cos x + c

c − 2 sin− 1(1 − 2 sin x)
cos− 1(1 − 2 sin x) + c

A. 2 sin− 1 √sin x + c

B. √2 cos− 1 √cos x + c

C. c − 2 sin− 1(1 − 2 sin x)

https://dl.doubtnut.com/l/_N9cJlnxFPVFx
https://dl.doubtnut.com/l/_EJ1dQAwywbRO
https://dl.doubtnut.com/l/_D58o87NuCJ3w


D. cos− 1(1 − 2 sin x) + c

Answer: A::D

Watch Video Solution

4. If l = ∫ sec2 x cos ec4xdx = A cot3 x + B tan x + C cot x + D, 
 then


A = − 
(b) B = 2
C = − 2
(d) none of these

A. A = −

B. B = 2

C. C = − 2

D. none of these

Answer: A::C

Watch Video Solution

1
3

1
3

https://dl.doubtnut.com/l/_D58o87NuCJ3w
https://dl.doubtnut.com/l/_xiDSocFR2pqC


5. A curve g(x) = ∫x27(1 + x + x2)6(6x2 + 5x + 4)dx
 is passing through

origin. Then
g(1) = 
(b) g(1) = 
g( − 1) = 
(d) g( − 1) =

A. g(1) =

B. g(1) =

C. g( − 1) =

D. g( − 1) =

Answer: A::C

Watch Video Solution

37

7
27

7
1
7

37

14

37

7

27

7

1
7

37

14

6. If ∫ dx = a log( ) + c then a and k are

A. k = − 2, f(x) = cot − 1 x, g(x) = √cosecx − 1

B. k = − 2, f(x) = tan− 1 x, g(x) = √cosecx − 1

C. k = 2, f(x) = tan− 1 x, g(x) =

(√x)5

(√x)7 + x6

xk

1 + xk

cot x

√cosecx − 1

https://dl.doubtnut.com/l/_OO6dpluRkcik
https://dl.doubtnut.com/l/_yJStNFmhbA0K


D. k = 2, f(x) = cot − 1 x, g(x) =

Answer: B::D

Watch Video Solution

cot x

√cosecx + 1

7. If I = ∫ dx=P cos x + Q log|f(x)| + R,then

A. P = 1/2, Q = −

B. P = 1/4, Q = −

C. f(x) =

D. f(x) =

Answer: A::C

Watch Video Solution

sin x + sin3 x
cos 2x

3

4√2
1

√2
√2 cos x + 1
√2 cos x − 1
√2 cos x − 1
√2 cos x + 1

https://dl.doubtnut.com/l/_yJStNFmhbA0K
https://dl.doubtnut.com/l/_xmIEF0ESIA6O


8. If

∫ 2xdx = AF(x − 1) + BF(x − 4) + CandF(x) = ∫ dx, then

A = − 
(b) b = ( )e3
A = 
(d) d ∈ R

A. A = − 2/3

B. B = (4/3)e3

C. A = 2/3

D. B = (8/3)e3

Answer: A::D

Watch Video Solution

ex − 1

(x2 − 5x + 4)
ex

x
2
3

4
3

2
3

9. If ∫x2e− 2x = e− 2x(ax2 + bx + c) + d then

A. a = −

B. b =

C. c = −

1
2

1
2

1
4

https://dl.doubtnut.com/l/_REHQJ6ejINrd
https://dl.doubtnut.com/l/_D4hYvuuZdbyY


D. d ∈ R

Answer: A::C::D

Watch Video Solution

10. If∫ dx = tan− 1 f(x) − tan− 1 g(x) + C, then
 both f(x)andg(x)

are odd functions
f(x)
is monotonic function
f(x) = g(x)
has no real roots

∫ dx = − + + c

A. both f(x) and g(x) are odd functions

B. f(x) is one-one function

C. f(x) = g(x) has no real roots

D. ∫ dx = + + c

Answer: A::C::D

Watch Video Solution

x4 + 1
x6 + 1

2
3

f(x)
g(x)

1
x

3
x3

f(x)
g(x)

1
x

3
x3

https://dl.doubtnut.com/l/_D4hYvuuZdbyY
https://dl.doubtnut.com/l/_VZTsPeZccAav
https://dl.doubtnut.com/l/_Bk2fdUEd7dTr


11. If ∫ exdx = exf(x) + c, then
f(x)
 is an even function
f(x)
 is a

bounded function
 the range of f(x)
 is (0, 1)
 f(x)
 has two points of

extrema

A. f(x) is an even function

B. f(x) is a bounded function

C. the range of f(x) is (0, 1]

D. f(x) has two points of extrema

Answer: A::B::C

Watch Video Solution

x2 − x + 1

(x2 + 1)
3
2

12. If ∫ dx = Af(x) + B,  then

A. A = −

B. B =

C. f(x) has fundamental period 

cos 4x + 1
cot x − tan x

1
8

1
2

π
2

https://dl.doubtnut.com/l/_Bk2fdUEd7dTr
https://dl.doubtnut.com/l/_EithBJpis6fi


D. f(x) is an odd function

Answer: A::C

Watch Video Solution

13. If

∫ sin− 1 x cos− 1 xdx = f − 1(x)[Ax − xf − 1(x) − 2√1 − x2] + √1 − x2 + 2x + C,

then

A. f(x) = sin x

B. f(x) = cos x

C. A =

D. A =

Answer: A::D

Watch Video Solution

π
2

π
4

π
2

https://dl.doubtnut.com/l/_EithBJpis6fi
https://dl.doubtnut.com/l/_gyYA2u93CN4M
https://dl.doubtnut.com/l/_T0NiZGSMQ1nA


14. If f(x) = ∫ dxandf(0) = 0, then
 f(x)
 is an odd function


f(x)
 has range R
 f(x)
 has at least one real root
 f(x)
 is a
 monotonic

function.

A. f(x) is an odd function

B. f(x) has range R

C. f(x) has at least one real root

D. f(x) is a monotonic function

Answer: A::B::C::D

Watch Video Solution

x8 + 4
x4 − 2x2 + 2

15. If ∫ = f(g(x)) + c,  then

A. f(x) is inverse trigonometric function for |a| < 2

B. f(x) is logarithmic function for |a| > 2

C. g(x) is quadratic function for |a| < 2

dx
x2 + ax + 1

https://dl.doubtnut.com/l/_T0NiZGSMQ1nA
https://dl.doubtnut.com/l/_36MmVnRSojzd


D. g(x) is rational function for |a| > 2

Answer: A::B::D

Watch Video Solution

16. If ∫ dx = a loge|x| + b loge∣∣x7 + 1∣∣ + c,  then

A. a = 1

B. a = − 1

C. b =

D. b = −

Answer: A::D

Watch Video Solution

1 − x7

x(1 + x7)

2
7

2
7

17. If ∫ dx = ax + b loge|2 sin x + 3 cos x| + c then
3 sin x + 2 cos x
3 cos x + 2 sin x

https://dl.doubtnut.com/l/_36MmVnRSojzd
https://dl.doubtnut.com/l/_s07lSH3KBhVa
https://dl.doubtnut.com/l/_uDaGe23D6uca


Exercise (Comprehension)

A. a = −

B. b =

C. a =

D. b = −

Answer: C::D

Watch Video Solution

12
13

6
13

12
13

15
39

1. y = f(x) is a polynomial function passing through point (0, 1) and which

increases in the intervals (1, 2) and (3, ∞) and decreases in the intervals 

(∞, 1) and (2, 3).  


If f(1) = − 8,  then the value of f(2) is

A. -3

B. -6

https://dl.doubtnut.com/l/_uDaGe23D6uca
https://dl.doubtnut.com/l/_66VzRLmMlSbU


C. -20

D. -7

Answer: D

View Text Solution

2. y = f(x) is a polynomial function passing through point (0, 1) and

which increases in the intervals (1, 2) and (3, ∞) and decreases in the

intervals (∞, 1) and (2, 3).  


If f(1) = − 8,  then the range of f(x) is

A. [3, ∞)

B. [ − 8, ∞)

C. [ − 7, ∞)

D. ( − ∞, 6]

Answer: B

W t h Vid S l ti

https://dl.doubtnut.com/l/_66VzRLmMlSbU
https://dl.doubtnut.com/l/_qc53WG6XkXXQ


Watch Video Solution

3. y = f(x) is a polynomial function passing through point (0, 1) and

which increases in the intervals (1, 2) and (3, ∞) and decreases in the

intervals (∞, 1) and (2, 3).  

If f(x) = 0 has four real roots, then the range of values of leading

coefficient of polynomial is

A. [4/9, 1/2]

B. [4/9, 1]

C. [1/3, 1/2]

D. none of these

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_qc53WG6XkXXQ
https://dl.doubtnut.com/l/_M3CL17ElfMs0


4. If A is a square matrix and ea is defined as 

eA = 1 + + .......... . ∞ = [f(x), g(x) and g(x), f(x)],  where 

A = [
x x
x x

].  and I being the identity matrix then ∫ dx =

A. log(ex + e− x) + c

B. log∣∣ex − e− x∣∣ + c

C. log∣∣e2x − 1∣∣ + c

D. none of these

Answer: A

Watch Video Solution

A2

2!
A3

3!
1
2

g(x)
f(x)

5. If A is a square matrix and ea is defined as 

eA = 1 + + .......... . ∞ = [f(x), g(x) and g(x), f(x)],  where 

A = [
x x
x x

].  and I being the identity matrix then ∫ dx =

A. (sin x − cos x)

A2

2!
A3

3!
1
2

g(x)
f(x)

ex

2

https://dl.doubtnut.com/l/_r9Zfvd4QOl0o
https://dl.doubtnut.com/l/_euFdNgzhA5Eb


B. (2 sin x − cos x)

C. (sin 2x − cos 2x)

D. none of these

Answer: B

Watch Video Solution

e2x

5

ex

5

6. If A is a square matrix and ea is defined as 

eA = 1 + + .......... . ∞ = [f(x), g(x) and g(x), f(x)],  where 

A = [
x x
x x

].  and I being the identity matrix then ∫ dx =

A. − cosec − 1(ex) + c

B. − sec− 1(ex) + c

C. + sec− 1(ex) + c

D. none of these

Answer: C

A2

2!
A3

3!
1
2

g(x)
f(x)

1

2√ex − 1
2

√ex − e− x

1

2√e2x − 1

https://dl.doubtnut.com/l/_euFdNgzhA5Eb
https://dl.doubtnut.com/l/_7BqqAl9PFzHi


Watch Video Solution

7. Euler's substitution: 

Integrals of the form ∫R(x, √ax2 + bx + c)dx are claculated with the aid of

one of the following three Euler substitutions: 

i. √ax2 + bx + c = t ± x√a if a > 0 


ii. √ax2 + bx + c = tx ± x√c if c > 0 


iii. √ax2 + bx + c = (x − a)t if ax2 + bx + c = a(x − a)(x − b) i.e., if α is

real root of ax2 + bx + c = 0 


Which of the following functions does not appear in the primitive of

 if t is a function of x ?

A. loge|t + 1|

B. loge|t + 2|

C. 

D. none of these

Answer: D

1

1 + √x2 + 2x + 2

1
t + 2

https://dl.doubtnut.com/l/_7BqqAl9PFzHi
https://dl.doubtnut.com/l/_gemFCyvqIUx2


View Text Solution

8. Euler's substitution: 

Integrals of the form ∫R(x, √ax2 + bx + c)dx are claculated with the aid of

one of the following three Euler substitutions: 

i. √ax2 + bx + c = t ± x√a if a > 0 


ii. √ax2 + bx + c = tx ± x√c if c > 0 


iii. √ax2 + bx + c = (x − a)t if ax2 + bx + c = a(x − a)(x − b) i.e., if α is

real root of ax2 + bx + c = 0 


Which of the following functions does not apear in the primitive of

 if t is a function of x?

A. loge|t|

B. loge|t − 2|

C. loge|t − 1|

D. loge|t + 1|

Answer: B

dx
x + √x2 − x + 1

https://dl.doubtnut.com/l/_gemFCyvqIUx2
https://dl.doubtnut.com/l/_1xIx0kuydFyr


View Text Solution

9. Euler's substitution: 

Integrals of the form ∫R(x, √ax2 + bx + c)dx are claculated with the aid of

one of the following three Euler substitutions: 

i. √ax2 + bx + c = t ± x√a if a > 0 


ii. √ax2 + bx + c = tx ± x√c if c > 0 


iii. √ax2 + bx + c = (x − a)t if ax2 + bx + c = a(x − a)(x − b) i.e., if α is

real root of ax2 + bx + c = 0 


∫  can be evaluated by substituting for x as

A. x =

B. x =

C. x =

D. none of these

Answer: A

Watch Video Solution

xdx

(√7x − 10 − x2)
3

5 + 2t2

t2 + 1
5 − t2

t2 + 2
2t2 − 5
3t2 − 1

https://dl.doubtnut.com/l/_1xIx0kuydFyr
https://dl.doubtnut.com/l/_7fjbHMNCNw78


10. Let f(x) = ∫ dx and f(0) = 0 then f(1) is

A. log(1 + √2)

B. log(1 + √2) −

C. log(1 + √2) +

D. none of these

Answer: B

Watch Video Solution

x2

(1 + x2)(1 + √1 + x2)

π
4

π
4

11. Let f(x) = ∫ dx and f(0) = 0 then f(1) is

A. an increasing function

B. a decreasing function

C. a non-monotonic function

x2

(1 + x2)(1 + √1 + x2)

https://dl.doubtnut.com/l/_7fjbHMNCNw78
https://dl.doubtnut.com/l/_C02RNInlMjWY
https://dl.doubtnut.com/l/_pGTAP7sO1DLX


D. can't say anything

Answer: A

Watch Video Solution

12. If ∫ dx 


= loge

∣
∣

∣
∣

∣
∣

∣
∣

− tan− 1 √f(x) + C,  then ,the value of f(1) is

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

x(x − 1)

(x2 + 1)(x + 1)√x3 + x2 + x
1
2

√f(x) − 1

√f(x) + 1

https://dl.doubtnut.com/l/_pGTAP7sO1DLX
https://dl.doubtnut.com/l/_wBIvP5pBsJ9r


13. If ∫ dx 


= loge

∣
∣

∣
∣

∣
∣

∣
∣

− tan− 1 √f(x) + C,  then 


The value of lim
x → ∞

tan− 1 √f(x) is

A. π/2

B. π/4

C. π

D. 2π

Answer: A

Watch Video Solution

x(x − 1)

(x2 + 1)(x + 1)√x3 + x2 + x
1
2

√f(x) − 1

√f(x) + 1

14. If a function satisfies the relation

f(x)f' ' (x) − f(x)f' (x) = (f' (x))2
∀x ∈ R and f(0) = f' (0) = 1,  then 


The value of lim
x → − ∞

f(x) is

A. 
1

√e

https://dl.doubtnut.com/l/_qhsjeTxMhKmG
https://dl.doubtnut.com/l/_x5TSinx8bjr2


B. 

C. √e

D. e

Answer: B

Watch Video Solution

1
e

15. If a function satisfies the relation

f(x)f' ' (x) − f(x)f' (x) = (f' (x))2
∀x ∈ R and f(0) = f' (0) = 1,  then 


Number of roots of the equation f(x) = ex is

A. 0

B. 1

C. 2

D. infinite

Answer: B

https://dl.doubtnut.com/l/_x5TSinx8bjr2
https://dl.doubtnut.com/l/_L98f5wcCT2Zp


Watch Video Solution

16. Consider two differentiable functions f(x), g(x) satisfying 

6∫ f(x)g(x)dx = x6 + 3x4 + 3x2 + c and 2∫ = x2 + c,  where f(x) > 0

∫ (g(x) − f(x))dx is equal to

A. − + x + c

B. + − + x + c

C. − + − x + c

D. + + c

Answer: B

Watch Video Solution

g(x)dx
f(x)

x4

4
x2

2

x4

4
x2

2
x3

3

x4

4
x3

3
x2

2

x4

4
x3

3

17. Consider two differentiable functions f(x), g(x) satisfying 

6∫ f(x)g(x)dx = x6 + 3x4 + 3x2 + c and 2∫ = x2 + c,  where f(x) > 0

lim
x → 0

=

g(x)dx
f(x)

log(f(x))
g(x)

https://dl.doubtnut.com/l/_L98f5wcCT2Zp
https://dl.doubtnut.com/l/_0emXdeIJ3Q1f
https://dl.doubtnut.com/l/_loFFk8AWOUVG


Exercise (Matrix)

A. e

B. 2

C. 1

D. 0

Answer: D

Watch Video Solution

1. Match the following lists: 

 


https://dl.doubtnut.com/l/_loFFk8AWOUVG
https://dl.doubtnut.com/l/_qv6nuoO3DEsu


View Text Solution

2. Match the following lists: 

Watch Video Solution

https://dl.doubtnut.com/l/_qv6nuoO3DEsu
https://dl.doubtnut.com/l/_GpJ2nVPvOjxI


3. Match the following lists: 

View Text Solution

4. Consider 

∫ dx 


= (ax2 + bx + c)√x2 + x + 1 + λ∫  


Now, match the following lists and then choose the correct code. 

x3 + 3x2 + 2x + 1
√x2 + x + 1

dx
√x2 + x + 1

https://dl.doubtnut.com/l/_GpJ2nVPvOjxI
https://dl.doubtnut.com/l/_7tGrlNj44fPy
https://dl.doubtnut.com/l/_WGyX3Aa3i89b


Exercise (Numerical)

 


Codes: 

a b c d
(1) q p s r
(2) s p q r
(3) r q p s
(4) q s p r

Watch Video Solution

1. 

Let f(x) = ∫xsin x(1 + x cos x ⋅ Inx + sin x)dx  and f( ) = .  Then the val
π
2

π2

4

https://dl.doubtnut.com/l/_WGyX3Aa3i89b
https://dl.doubtnut.com/l/_hdAbMc7mpGiq


Watch Video Solution

2. Let g(x) = ∫ dxandg(0) = 0. 
 then the value of 8g( )
 is

__________

Watch Video Solution

1 + 2 cos x

(cos x + 2)2
π
2

3. 

Let k(x) = ∫  and k( − 1) = .  Then the value of k( − 2)

Watch Video Solution

(x2 + 1)dx
3√x3 + 3x + 6

1
3√2

4. If the value ∫ dx = ln∣∣sink x + cosk x∣∣ + c, then

find k.

Watch Video Solution

1 − (cot x)2008

tan x + (cot x)2009
1
k

https://dl.doubtnut.com/l/_hdAbMc7mpGiq
https://dl.doubtnut.com/l/_Brx0eSnhbpFk
https://dl.doubtnut.com/l/_AgpvqJDa6yVV
https://dl.doubtnut.com/l/_dzND5q6mQrNI


5. If f(x) = ∫ dx and f(0) = 0, 
then the value of 
∣
∣
∣

∣
∣
∣


is___

Watch Video Solution

3x2 + 1

(x2 − 1)3
2

f(2)

6. 

If f(x) = √x, g(x) = ex − 1,  and ∫ fog(x)dx = Afog(x) + B tan− 1(fog(x)) + C

Watch Video Solution

7. 

If ∫ dx = A  In|cos x + sin x − 2| + Bx + C,  then the valu

Watch Video Solution

2 cos x − sin x + λ
cos x + sin x − 2

8. 

If ∫ ex3 + x2 − 1(3x4 + 2x3 + 2x)dx = f(x) + C,  then the value of f(1) × f( − 1)  

Watch Video Solution

https://dl.doubtnut.com/l/_P4MBziaXGHCy
https://dl.doubtnut.com/l/_n5LjOKZBY17Q
https://dl.doubtnut.com/l/_wG97ouVHIqhk
https://dl.doubtnut.com/l/_95BW5RZ6f1ib
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9. 

If f(x) = ∫  and f(0) = 12 loge 2,  then the value of f( − 1)  is − .

Watch Video Solution

dx
x1 / 3 + 2

10. 

If I = = − A(tan x)− + B(tan x)− + c,  then the value of 

Watch Video Solution

dx
3√sin11 x cos x

8
3

2
3

1. If ∫ dx = x + a  ln(sin x − 2 cos x) + k  then a =

A. -1

B. -2

5 tan x
tan x − 2

https://dl.doubtnut.com/l/_95BW5RZ6f1ib
https://dl.doubtnut.com/l/_7KBlhrKxr06t
https://dl.doubtnut.com/l/_2AoSolAdIDtH
https://dl.doubtnut.com/l/_rYqe8Q7hUVjU


C. 1

D. 2

Answer: D

Watch Video Solution

2. If ∫ f(x)dx = ψ(x), then ∫x5f(x3)dx

A. [x3Ψ(x3) − ∫x2Ψ(x3)dx] + c

B. x3Ψ(x3) − 3∫x3Ψ(x3)dx + c

C. x3Ψ(x3) − ∫x2Ψ(x3)dx + c

D. [x3Ψ(x3) − ∫x3Ψ(x3)dx] + c

Answer: C

Watch Video Solution

1
3

1
3

1
3

1
3

https://dl.doubtnut.com/l/_rYqe8Q7hUVjU
https://dl.doubtnut.com/l/_QLJsVCMuwfO3


3. The integral ∫ (1 + x − )ex + dx is equal to

A. (x − 1)ex + + c

B. xex + + c

C. (x + 1)ex + + c

D. −xex + + c

Answer: B

Watch Video Solution

1
x

1
x

1
x

1
x

1
x

1
x

4. The integral ∫  equals

A. ( )
1 / 4

+ c

B. (x4 + 1)1 / 4 + c

C. −(x4 + 1)1 / 4 + c

D. −( )
1 / 4

+ c

dx

x2(x4 + 1)3 / 4

x4 + 1
x4

x4 + 1
x4

https://dl.doubtnut.com/l/_LPwIYq8dQ9V1
https://dl.doubtnut.com/l/_MZpVBgT84bw0


Answer: D

Watch Video Solution

5. The integral ∫ . dx is equal to- (A)  (B)

 (C) −  (D) −

A. + C

B. + C

C. 

D. + C

Answer: A

Watch Video Solution

2x12 + 5x9

[x5 + x3 + 1]3
x10

2(x5 + x3 + 1)2

x5

2(x5 + x3 + 1)2
x10

2(x5 + x3 + 1)2
x5

2(x5 + x3 + 1)2

x10

2(x5 + x3 + 1)2

x5

2(x5 + x3 + 1)2

−x10

2(x5 + x3 + 1)2

−x5

(x5 + x3 + 1)2

https://dl.doubtnut.com/l/_MZpVBgT84bw0
https://dl.doubtnut.com/l/_ZDmx8DSZCSWM


6. Let In = ∫ tann xdx, (n > 1). If
 I4 + I6 = a tan5 x + bx5 + C, Where C is a

constant of integration, then the ordered pair (a, b) is equal to :

A. ( − , 0)

B. ( − , 1)

C. ( , 0)

D. ( , − 1)

Answer: C

Watch Video Solution

1
5

1
5

1
5

1
5

7. ∫    dx

A. + C

B. + C

C. + C

sin2 x cos2 x

(sin5 x + cos3 x sin2 x + sin3 x cos2 x + cos5 x)
2

−1
1 + cot3 x

1

3(1 + tan3 x)
−1

3(1 + tan3 x)

https://dl.doubtnut.com/l/_zEclHuKAbofV
https://dl.doubtnut.com/l/_ZBcFMH3nZUbG
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D. + C

Answer: C

Watch Video Solution

1
1 + cot3 x

1. The integral ∫ dx
 equals (for some arbitrary constant 

K).
 − { − (sec x + tan x)2} + K

{ − (sec x + tan x)2} + K

− { + (sec x + tan x)2} + K

{ + (sec x + tan x)2} + K

A. − { − (sec x + tan x)2} + K

B. { − (sec x + tan x)2} + K

C. − { + (sec x + tan x)2} + K

sec2 x

(sec x + tan x)
9
2

1

(sec x + tan x)
11
2

1
11

1
7

1

(sec x + tan x)
1
11

1
11

1
7

1

(sec x + tan x)
11
2

1
11

1
7

1

(sec x + tan x)
11
2

1
11

1
7

1

(sec x + tan x)11 / 2

1
11

1
7

1

(sec x + tan x)1 / 11

1
11

1
7

1

(sec x + tan x)11 / 2

1
11

1
7

https://dl.doubtnut.com/l/_ZBcFMH3nZUbG
https://dl.doubtnut.com/l/_r8LCbFtz44AV


Single Correct Answer Type

D. { + (sec x + tan x)2} + K

Answer: C

Watch Video Solution

1

(sec x + tan x)11 / 2

1
11

1
7

1. Evaluate: ∫  dx

A. −( + cos x) + C

B. −( + cos x) + C

C. −( + cos x) + C

D. −( + sin x) + C

Answer: D

Watch Video Solution

cos 5x + cos 4x
1 − 2 cos 3x

sin 2x
2

sin 2x
2

cos 2x
2

sin 2x
2

https://dl.doubtnut.com/l/_r8LCbFtz44AV
https://dl.doubtnut.com/l/_DXTtMhqEVYCH
https://dl.doubtnut.com/l/_jztCVl9SMf5t


2. ∫ dx di equal to

A. ln|sec 2x + tan 2x| + C

B. ln|sec x + cosec x| + C

C. ln|sec x + tan x| + C

D. ln|sec x +  cosec x| + C

Answer: A

Watch Video Solution

sec x. cosecx
2 cot x − sec xcosec x

1
2

1
2

3. ∫ ln( )dx =

A. ex − ln x + C

B. ln x − ex + C

C. (ln x)2 − x + C

D. + C

1
x

x
ex

1
2

1
2

1
2

ex

2x

https://dl.doubtnut.com/l/_jztCVl9SMf5t
https://dl.doubtnut.com/l/_P8Hnzzv9cKTI


Answer: C

Watch Video Solution

4. ∫ dx =  (A) − + c (B) − + c (C) + c (D)

+ c

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(cos x)n − 1

(sin x)n + 1
cotn x

n
cotn x
n + 1

cotn x
n

cotn x
n + 1

cotn x
n

−cotn − 1 x
n − 1

−cotn x
n

cotn − 1 x
n − 1

5. If ∫x26. (x − 1)17. (5x − 3)dx = + C where C is a constant

of integration, then the value of k is equal to

x27. (x − 1)18

k

https://dl.doubtnut.com/l/_P8Hnzzv9cKTI
https://dl.doubtnut.com/l/_n2t7tukuCtpn
https://dl.doubtnut.com/l/_6qCE8xbmCfC9


A. 3

B. 6

C. 9

D. 12

Answer: C

Watch Video Solution

6. If ∫ dx = A√1 − 9x2 + B(cos− 1 3x)
3

+ C,  then A-B is

A. 

B. −

C. 

D. 0

Answer: D

Watch Video Solution

x + (cos− 1 3x)2

√1 − 9x2

2
9

1
9

1
9

https://dl.doubtnut.com/l/_6qCE8xbmCfC9
https://dl.doubtnut.com/l/_dM6ujYteMFsV


7. If ∫ (tan9 x)dx = f(x) + log|cos x|,  where f(x) is a polynomial of degree n

in tan x, then the value of n is

A. 6

B. 7

C. 8

D. none of these

Answer: C

Watch Video Solution

8. ∫ dx = loge(f(x)) + g(x) + C where C is the

constant of integration and f(x) is positive. Then f(x) + g(x) has the value

equal to

A. ex + sin x + 2x

cos x − sin x + 1 − x
ex + sin x + x

https://dl.doubtnut.com/l/_dM6ujYteMFsV
https://dl.doubtnut.com/l/_ACbkRS4TrWWZ
https://dl.doubtnut.com/l/_qCjPFZurQlD2


B. ex + sin x

C. ex − sin x

D. ex + sin x + x

Answer: B

Watch Video Solution

9. ∫ dx equals

A. + 6 tan− 1(x ) + C

B. + 6 tan− 1(x ) + C

C. + 6 tan− 1(x ) + C

D. + 6 tan− 1(x ) + C

Answer: B

Watch Video Solution

x + x + x
2
3

1
6

x(1 + x )
1
3

3x
2
3

4
1
6

3x
2
3

2
1
6

3x
2
3

10
1
6

3x
2
3

5
1
6

https://dl.doubtnut.com/l/_qCjPFZurQlD2
https://dl.doubtnut.com/l/_9vgcKjib2ivu


10. ∫ dx∀x > 0 is equal to

A. ln(1 + ) + c

B. ln( − + ) + c

C. ln(2 + ) + c

D. ln(x + ) + c

Answer: A

Watch Video Solution

ex(x − 2)
x(x2 + ex)

ex

x2

1
2

ex

x2

ex

x2

ex

x2

11. If x2 ≠ nπ − 1, n ∈ N . Then, the value of 

∫x√ dx is equal to:

A. ln∣∣
∣

sec(x2 + 1)∣∣
∣

+ C

B. ln
∣
∣
∣

sec( )
∣
∣
∣

+ C

C. ln∣∣sec(x2 + 1)∣∣ + C

2 sin(x2 + 1) − sin 2(x2 + 1)
2 sin(x2 + 1) + sin 2(x2 + 1)

1
2

x2 + 1
2

1
2

https://dl.doubtnut.com/l/_9vgcKjib2ivu
https://dl.doubtnut.com/l/_RoeYHFQNFdOM
https://dl.doubtnut.com/l/_uL4iObUJJFhx


D. ln
∣
∣
∣

∣
∣
∣

+ C

Answer: B

Watch Video Solution

1
2

2
sec(x2 + 1)

12. The value of ∫ dx is

A. −tan(1 + log tan. ) + c

B. sec2(1 + log tan. ) + c

C. tan(1 + log tan. ) + c

D. sin2(1 + log tan. ) + c

Answer: C

Watch Video Solution

cosec x

cos2(1 + log tan. )x
2

x
2

x
2

x
2

x
2

13. ∫ =dx
x√x6 − 16

https://dl.doubtnut.com/l/_uL4iObUJJFhx
https://dl.doubtnut.com/l/_1E3FBC0xGop0
https://dl.doubtnut.com/l/_y80XkdnaMUOq


A. sec. + c

B. sec. + c

C. sec. + c

D. none of these

Answer: B

Watch Video Solution

x3

4

1
12

x3

4

1
3

x3

4

14. ∫ =

A. log
∣
∣
∣

∣
∣
∣

− (log|sec 2x − tan 2x|) + C

B. log
∣
∣
∣

∣
∣
∣

− (log|sec 2x − tan 2x|) + C

C. log
∣
∣
∣

∣
∣
∣

− (log|sec 2x − tan 2x|) + C

D. none of these

Answer: B

Watch Video Solution

dx
cos(2x)cos(4x)

1

2√2

1 + √2 sin 2x

1 − √2 sin 2x

1
2

1

2√2

1 − √2 sin 2x

1 + √2 sin 2x

1
2

1
√2

1 + √2 sin 2x

1 − √2 sin 2x

1
2

https://dl.doubtnut.com/l/_y80XkdnaMUOq
https://dl.doubtnut.com/l/_OJcZgbo65mCi


15. ∫x.2ln ( x2 + 1 ) dx is equal to

A. + C

B. (x2 + 1)

C. + C

D. + C

Answer: C

Watch Video Solution

2ln ( x2 + 1 )

2(x2 + 1)

2ln ( x2 + 1 )

ln 2 + 1

(x2 + 1)ln 2 + 1

2(ln 2 + 1)

(x2 + 1)ln 2

2(ln 2 + 1)

16. If ∫ dx = Af(x) + log[|sin x − cos x|] + c,  then

A. A = , f(x) = sin x

B. A = √2, f(x) = cos x

C. A = √2, f(x) = x

sin x

sin(x − )π
4

1
√2

1
√2

https://dl.doubtnut.com/l/_OJcZgbo65mCi
https://dl.doubtnut.com/l/_oMrvZ4upaeJu
https://dl.doubtnut.com/l/_KhnTgKkXfjxB


D. A = , f(x) = x

Answer: D

Watch Video Solution

1

√2

17. ∫ (√ − √ sin x)dx equals

A. −√x cos x + C

B. √x sin x + C

C. 2√x cos x + C

D. C − 2√x cos x

Answer: C

Watch Video Solution

cos x
x

x
cos x

18. ∫ dx
(2x + 1)

(x2 + 4x + 1)3 / 2

https://dl.doubtnut.com/l/_KhnTgKkXfjxB
https://dl.doubtnut.com/l/_hNZLoY05Bc6S
https://dl.doubtnut.com/l/_iV9pEdQFWFIt


A. + C

B. + C

C. + C

D. + C

Answer: B

Watch Video Solution

x3

(x2 + 4x + 1)1 / 2

x

(x2 + 4x + 1)1 / 2

x2

(x2 + 4x + 1)1 / 2

1

(x2 + 4x + 1)1 / 2

19. If ∫ = C −  where f(x) is of the form

of ax2 + bx + c, then the value of f(1) is

A. 4

B. 5

C. 6

D. none

Answer: B

(2x + 3)dx
x(x + 1)(x + 2)(x + 3) + 1

1
f(x)

https://dl.doubtnut.com/l/_iV9pEdQFWFIt
https://dl.doubtnut.com/l/_4lUPMUKTKI9w


Watch Video Solution

20. The integral ∫√cot xe√sin x√cos xdx equals

A. + C

B. 2e√sin x + C

C. − e√sin x + C

D. + C

Answer: B

Watch Video Solution

√tan xe√sin x

√cos x

1
2

√cot xe√sin x

2√cos x

21. ∫  equals

A. sec− 1 x3 + C

B. log( ) + C

dx
x√x6 + 1

1
6

√x6 + 1 − 1
√x6 + 1 + 1

https://dl.doubtnut.com/l/_4lUPMUKTKI9w
https://dl.doubtnut.com/l/_9yDBKDztUVaW
https://dl.doubtnut.com/l/_Xa2GoFn4Gzw9


C. log( ) + C

D. log( ) + C

Answer: B

Watch Video Solution

1
3

√x3 + 1 − 1
√x3 + 1 + 1

1
3

√x3 + 1 + 1
√x3 + 1 − 1

22. ∫ = 2
⎡

⎣
−

⎤

⎦
+ c where 

α, β > 0  then α − β is

A. 1

B. 2

C. −1

D. −2

Answer: A

Watch Video Solution

dx

(1 + √x)2010

1

α(1 + √x)α
1

(β(1 + √x))β

https://dl.doubtnut.com/l/_Xa2GoFn4Gzw9
https://dl.doubtnut.com/l/_7NKcCiN08Lib


23. ∫ = A tan− 1(f(x)) + B, where A, B are contants. Then

the range of Af(x) is

A. [ − 1, 1]

B. [ − √2, √2]

C. [0, 1]

D. [ − 1, 0]

Answer: A

Watch Video Solution

sin( − x)dxπ
4

2 + sin 2x

24. If √x + √x2 + xdx = A{x + √x2 + 2}
3 / 2

+ + c.  then

the value of 3AB is

A. −1

B. −2

B
√x + √x2 + 2

https://dl.doubtnut.com/l/_XHx9ggrHxoJt
https://dl.doubtnut.com/l/_H9jeeFVlw9VC


C. 1

D. 2

Answer: B

Watch Video Solution

25. ∫ dx is equal to

A. 2 sin− 1 √x − + 2 + c

B. 2 cos− 1 √x − + 2 + c

C. sin− 1 √x − + 2 + c

D. cos− 1 √x − + 2 + c

Answer: A

Watch Video Solution

x2 + 1

x√x2 + 2x − 1√1 − x2 − x

1
x
1
x

1
x
1
x

https://dl.doubtnut.com/l/_H9jeeFVlw9VC
https://dl.doubtnut.com/l/_Bx8XITKqgYp2


26. ∫  has the value equal to

A. C − tan− 1 sec( )

B. tan− 1 sec( ) + C

C. C −

D. + C

Answer: C

Watch Video Solution

dx
x2√16 − x2

1
4

x
4

1
4

x
4

√16 − x2

16x
√16 − x2

16x

27. If

∫ = K tan− 1(√tan x + 1 + cot x) + C,

then the value of K is

A. 2

B. 3

3 tan(x − )π
4

cos2 x√tan3 + x tan2 x + tan x

https://dl.doubtnut.com/l/_2hthZBjJC1Ad
https://dl.doubtnut.com/l/_40wSOgfFjRCk


C. 6

D. 8

Answer: C

View Text Solution

28. ∫ dx is

A. 2 tan− 1(x + √1 − x2) + c

B. tan− 1(x + √1 − x2) + c

C. 2 tan− 1(x − √1 − x2) + c

D. 2 cot − 1(x + √1 − x2) + c

Answer: A

Watch Video Solution

√1 − x2 − x

√1 − x2(1 + x√1 − x2)

https://dl.doubtnut.com/l/_40wSOgfFjRCk
https://dl.doubtnut.com/l/_tEYhcEwAGbIM


29. ∫ dx =

A. tan− 1( ) + c

B. tan− 1( ) + c

C. sin− 1( ) + c

D. tan− 1( ) + c

Answer: B

Watch Video Solution

3x2 + 2x
x6 + 2x5 + x4 + 2x3 + 2x2 + 5

1
4

x3 + x2 + 1
2

1
2

x3 + x2 + 1
2

x3 + x2 + 1
2

1
2

x3 + x2

2

30. ∫ dx is equal to

A. 2
⎛

⎝
√ −

⎞

⎠
+ c

B. 2
⎛

⎝
√ −

⎞

⎠
+ c

C. 2(√ − ) + c

1

(1 + √x)√x − x2

x
√1 − x

1
√1 − x

x
√1 − x

1
1 − x

x
1 − x

1

√1 − x

https://dl.doubtnut.com/l/_UBXrkZXXxkog
https://dl.doubtnut.com/l/_aEk7k2n6eyL9


D. 2(√ − ) + c

Answer: C

Watch Video Solution

x
1 − x

1
1 − x

31. If f(x) = ∫ dx, (x ≥ 0), and f(0) = 0, then the value of

f(1) is

A. −1/2

B. 1/4

C. 1/2

D. −1/4

Answer: B

Watch Video Solution

5x8 + 7x6

(x2 + 1 + 2x7)2

https://dl.doubtnut.com/l/_aEk7k2n6eyL9
https://dl.doubtnut.com/l/_aqxhDeLvEzzl


32. If I = ∫ , then I equals

A. [ √a2 + x2 − √a2 + x2] + c

B. [ √a2 + x2 − (a2 + x2)
3 / 2

] + c

C. [ √a2 + x2 − (a2 + x2)
3 / 2

] + c

D. [ √a2 + x2 − √a2 + x2] + c

Answer: C

Watch Video Solution

dx
x4√a2 + x2

1
a4

1
x

1
3x2

1
a4

1
x

1

2√x
1
a4

1
x

1
3x3

1
a4

1
x

1
3x3

33. If I = ∫x27(6x2 + 5x + 4)(x2 + x + 1)
6
dx = f(x) + C, then f(x) is equal

to

A. + C

B. + C

C. + C

x4(1 + x + x2)7

7

x28(1 + x + x2)7

7

x28(1 + x + x2)7

28

https://dl.doubtnut.com/l/_ndDt6V4TGmrA
https://dl.doubtnut.com/l/_lazehgRrfvEP


D. None

Answer: B

Watch Video Solution

34. ∫ dx equals

A. ln. − ln(ln2 x − x2) + C

B. ln( ) − tan− 1( ) + C

C. ln( ) + tan− 1( ) + C

D. (ln( ) + tan− 1( )) + C

Answer: B

Watch Video Solution

x2(1 − log x)

(log x)4 − x4

1
2

x
ln x

1
4

1
4

ln x − x
ln x + x

1
2

ln x
x

1
4

ln x − x
ln x + x

1
2

ln x
x

1
4

ln x − x
ln x + x

ln x
x

https://dl.doubtnut.com/l/_lazehgRrfvEP
https://dl.doubtnut.com/l/_3ilNJrugXGYx


35. 

∫ = log
∣
∣

∣

∣
∣

∣
∣

∣

∣
∣

− A + c.  


Then the value of A is equal to

A. cos− 1 √1 +

B. tan− 1 √x + + 1

C. cot − 1 √x +

D. sin− 1 √x + + 1

Answer: B

Watch Video Solution

x(x − 1)

(x2 + 1)(x + 1)√x3 + x2 + x

1
2

√x + + 1 − 11
x

√x + + 1 + 11
x

1
x
1
x
1
x
1
x

36. ∫  equals

A. ln( )

B. ln( )

dx3

x3(xn + 1)

3
n

xn

xn + 1

1
n

xn

xn + 1

https://dl.doubtnut.com/l/_n3otr8KKICn6
https://dl.doubtnut.com/l/_bTFGOfRn3juc


C. ln( )

D. 3n ln( )

Answer: A

Watch Video Solution

3
n

xn + 1
xn

xn + 1

xn

37. ∫  is equal to

A. loge x + c

B. loge x + 2 tan− 1 x + c

C. loge. + c

D. loge{x(x2 + 1)} + c

Answer: B

Watch Video Solution

(x + 1)2x
x(x2 + 1)

1
x2 + 1

https://dl.doubtnut.com/l/_bTFGOfRn3juc
https://dl.doubtnut.com/l/_O5GvmIdiPX1e


38. ∫ dx is equal to

A. log. + C

B. tan− 1. + C

C. log. + C

D. tan− 1. + C

Answer: A

Watch Video Solution

x3 − x
1 + x6

1
6

x4 − x2 + 1
x(x2 + 1)

1
6

(x2 + 1)2

2

x4 − x2 + 1

(1 + x2)2

(x2 + 1)2

2

39. ∫ dx is

A. ln(1 + x4) + ln(1 + x3) + c

B. sin x ∣ − sin x + C

C. ln(1 + x4) − ln(1 + x) + c

D. ln(1 + x4) + ln(1 + x) + c

x3 − 1
(x4 + 1)(x + 1)

1
4

1
3

1
4

1
4

https://dl.doubtnut.com/l/_mcGcNk9Cnq5t
https://dl.doubtnut.com/l/_iQO1mXPdk0w9


Answer: C

Watch Video Solution

40. The value of ∫ dx is equal to

A. loge|sin x| + sin x + C

B. loge|sin x| − sin x + C

C. −loge|sin x| − sin x + C

D. −loge|sin x| + sin x + C

Answer: B

Watch Video Solution

cos3 x

sin2 x + sin x

41. ∫  dx is equal to:

A. x − loge|x| + loge(x2 + 1) − tan− 1 x + C

x3 − 1
x3 + x

https://dl.doubtnut.com/l/_iQO1mXPdk0w9
https://dl.doubtnut.com/l/_1Woh8b3P3F62
https://dl.doubtnut.com/l/_2c9D5aUExomC


B. x − loge|x| + loge(x2 + 1) − tan− 1 x + C

C. x + loge|x| + loge(x2 + 1) + tan− 1 x + C

D. none of these

Answer: B

Watch Video Solution

1
2

1
2

42. ∫ dx =

A. + C

B. 2 cosec x+cot x + C

C. + C

D. 2 cosec x−cot x + C

Answer: A

View Text Solution

(2 + sec x)sec x

(1 + 2 sec x)2

1
2 cosec x+cot x

1
2 cosec x−cot x

https://dl.doubtnut.com/l/_2c9D5aUExomC
https://dl.doubtnut.com/l/_tzzIrwOyXHRV


43. If f(x)dx = g(x) and f − 1(x) is differentiable, then ∫ f − 1(x)dx equal to

A. g − 1(x) + C

B. xf − 1 + C

C. xf − 1(x) − g(f − 1(x)) + C

D. f − 1(x) + C

Answer: C

Watch Video Solution

44. ∫ (2 ln cosec x + sin 2x)dx

A. 2ecot x ln|sin x| + c

B. 2etan x ln|sin x| + c

C. 2ecot x ln|cos x| + c

D. 2etan x ln|cos x| + c

ecot x

sin2 x

https://dl.doubtnut.com/l/_VOaJZWceszp2
https://dl.doubtnut.com/l/_LzHGhNbCr3ym


Answer: A

Watch Video Solution

45. ∫ dx = + C, then f(x) is equal to

A. sin x

B. cos x

C. tan x

D. cot x

Answer: C

Watch Video Solution

1 − 7 cos2 x
sin7 x cos2 x

f(x)

(sin x)7

46. If f(x) = ∫ex(tan− 1 x + )dx, f(0) = 0 then the value of f(1) is

A. e( − ) + 1

2x

(1 + x2)2

π
4

1
2

https://dl.doubtnut.com/l/_LzHGhNbCr3ym
https://dl.doubtnut.com/l/_lol8eivtOj0T
https://dl.doubtnut.com/l/_0E7sADT4QTvw


B. e( + ) + 1

C. e( − ) + 1

D. e− 1( − ) + 1

Answer: A

Watch Video Solution

π
4

1
2

π
2

1
4

π
4

1
2

47. ∫ dx is equal to

A. ex( ) + c

B. ex( ) + c

C. ex( ) + c

D. ex( ) + c

Answer: D

Watch Video Solution

ex(x − 1)(x − ln x)

x2

x − ln x
x

x − ln x + 1
x

x − ln x
x2

x − ln x − 1
x

https://dl.doubtnut.com/l/_0E7sADT4QTvw
https://dl.doubtnut.com/l/_8QR8Sq1ikc2J
https://dl.doubtnut.com/l/_ykoSgIVT2KuJ


Subjective Type

48. ∫ (sin(101x). sin99 x)dx equals

A. + C

B. + C

C. + C

D. + C

Answer: A

Watch Video Solution

sin(100x)(sin x)100

100

cos(100x)(sin x)100

100

cos(100x)(cos x)100

100

cos(100x)(cos x)100

100

1. Evaluate: ∫  dx

Watch Video Solution

(x − 1)2

x4 + x2 + 1

https://dl.doubtnut.com/l/_ykoSgIVT2KuJ
https://dl.doubtnut.com/l/_XoW8Zc6cEtcB


2. Evaluate : ∫ dx

Watch Video Solution

x2 − 4
x4 + 9x2 + 16

3. Evaluate: ∫ cos 2x  ln (1 + tan x)dx

Watch Video Solution

4. Evaluate : ∫ sin 4x. etan2 xdx

Watch Video Solution

5. Evaluate : ∫ dx

Watch Video Solution

loge(1 + sin2 x)
cos2 x

https://dl.doubtnut.com/l/_1rpcpvdsh39E
https://dl.doubtnut.com/l/_8AXa4P6RDwr0
https://dl.doubtnut.com/l/_9visr3suAV7x
https://dl.doubtnut.com/l/_28GBRITtJkm7


Comprehension Type

6. Evaluate : ∫ dx

Watch Video Solution

x loge x

(x2 − 1)3 / 2

1. Let f(x) = ∫ , g(x) = ∫ .  


∫ (f(x) − 2g(x))dx

A. log
∣
∣
∣

∣
∣
∣

+ C

B. log
∣
∣
∣

∣
∣
∣

+ C

C. tan− 1( ) + C

D. tan− 1( ) + C

Answer: D

Watch Video Solution

dx
ex + 8e− x + 4e− 3x

dx
e3x + 8ex + 4e− x

1
2

ex + 2e− x − 2
ex + 2e− x + 2

1

4√3

ex − 2e− x − 2√3

ex + 2e− x + 2√3
1

2√3
ex − 2e− x

2√3
1
2

ex + 2e− x

2

https://dl.doubtnut.com/l/_JnMPeq1X6XKy
https://dl.doubtnut.com/l/_dpaELTYoJXCv
https://dl.doubtnut.com/l/_G6TYJJPqijwO


Multiple Correct Answer Type

2. Let f(x) = ∫ , g(x) = ∫ .  


∫ (f(x) − 2g(x))dx

A. log
∣
∣
∣

∣
∣
∣

+ C

B. tan− 1( ) + C

C. tan− 1( ) + C

D. log
∣
∣
∣

∣
∣
∣

+ C

Answer: B

Watch Video Solution

dx
ex + 8e− x + 4e− 3x

dx
e3x + 8ex + 4e− x

1

4√3

ex − 2e− x − 2√3

ex + 2e− x + 2√3
1
2

ex + 2e− x

2

1

2√3
ex − 2e− x

2√3
1
4

ex + 2e− x − 2
ex + 2e− x + 2

1. If ∫ log( )dx = log t − − log u + + C,  then

A. u = ex + e− x

B. u = ex − e− x

e4x − 1
e2x

e2x + 1
e2x − 1

t2

2
t2

4
u2

2
u2

4

https://dl.doubtnut.com/l/_G6TYJJPqijwO
https://dl.doubtnut.com/l/_XwWjh11sncJo


C. t = ex + e− x

D. t = ex − e− x

Answer: B::C

View Text Solution

2. If ∫ dx = f(x)√1 + ex − 2 log g(x) + C, then

A. f(x) = x − 1

B. g(x) =

C. g(x) =

D. f(x) = 2(x − 2)

Answer: B::D

Watch Video Solution

xex

√1 + ex

√1 + ex − 1
√1 + ex + 1
√1 + ex + 1
√1 + ex − 1

https://dl.doubtnut.com/l/_XwWjh11sncJo
https://dl.doubtnut.com/l/_gUUcZvGqo4hv


Question Bank

1. Let k(x) =  and k(-1) = 1/root (3)(2))` then the value of

k(-2) is

View Text Solution

(x2 + 1)
3√x3 + 3x + 6dx

2. If f(x) = ∫ dx then find the

value of [F(99)-F(3)].[Note :[k] denotes greatest integer less than or equal

to k.]

View Text Solution

(1 + x)(1 − x + x2)(1 + x + x2) + x2

1 + 2x + 3x2 + 4x3 + 3x4 + 2x5 + x6

3. If f(x) = ∫2ex cos2 x( − tan2 x + tan x + 1)dx and f(x) passes through 

(π, 0) then (f(0) + f ′ (0)) equals

View Text Solution

https://dl.doubtnut.com/l/_IUmriuqf12Qq
https://dl.doubtnut.com/l/_y3T40Vaen3sx
https://dl.doubtnut.com/l/_Jes8VKpevlAK
https://dl.doubtnut.com/l/_A0bn81SLrGJm


4. If

∫ dx = (cos ecx − cot x) ( + ) + C

where C is constant of integration and α ∈ N) then α is

View Text Solution

cos ec2x

(cos ecx + cot x)
9
2

7
2

1
α

(cos ecx − cot x)2

11

5. ∫ sin 4xetan2 xdx = c − A cos4 x. etan2 x then A is equal to

View Text Solution

6. If ∫ = ax + b√x + c∫√ dx then (a+b+c) equals

View Text Solution

dx
1 + √x + 1 + √x

x + 1
x

7. (4+x^(12))/((x^(6)-2x^(3)+2))dx = x^(alpha)/alpha

+x^(beta)/gamma+deltax+c, thenthel ∗ digitoftheνmber(alpha - beta +

gamma -delta)^(99)` is equal to (where 'c' in integration constant)

https://dl.doubtnut.com/l/_A0bn81SLrGJm
https://dl.doubtnut.com/l/_0DPsQ5kGjb64
https://dl.doubtnut.com/l/_JCkaaE2k0Wli
https://dl.doubtnut.com/l/_dt6tIwHA4XLl


View Text Solution

8. let

f(x) = ∫ dx = tan− 1( )

such that f(2) = (A, B, C, in R)`, then value of |A+B+C| is

View Text Solution

4 + x12

x4 + x3 − 7x2 − 4x + 16
A
√3

Ax2 + Bx + 2C
√3x

π
3√3

9. If curve f(x) = ∫x1(2x3 + 3x + 4)3(1 + x + x3)dx passes through origin

& f(1) =p/q where p & q are relatively prime then p-q is

View Text Solution

10. If f(x) = dx and f(1) = 0, then the value of 

∣∣3f(e2)∣∣ is equal to

View Text Solution

3(Inx)2 + (Inx)4

x(1 + (Inx)2 − (Inx)3)
2

https://dl.doubtnut.com/l/_dt6tIwHA4XLl
https://dl.doubtnut.com/l/_1CQPv7w7Hr0b
https://dl.doubtnut.com/l/_vMu2vL8cpZ2Z
https://dl.doubtnut.com/l/_DfwKfIomYdci


11. If dx = (en + 1) + C (where C is constant of

integration and k, α, β, γ are positive integers and β, γ are relatively

prime) then ( + ) is

View Text Solution

√e7x

4√e2x + e− 2x

1
k

β
γ

k
β

γ
α

12. If

∫ (logex e)(loge2x e)(loge3x e) = A log|1 + log x| + B log|2 + log x| + C log|3 +

then A-B+C is equal to

View Text Solution

dx
x

13. Let ∫ cos3 xdx = sin x + + + c, then n+2m is equal to

View Text Solution

sin3 x
m

sin5 x
n

https://dl.doubtnut.com/l/_DfwKfIomYdci
https://dl.doubtnut.com/l/_I11oHuydi3uG
https://dl.doubtnut.com/l/_Gt4ljVCbyBrn
https://dl.doubtnut.com/l/_tSKzET8wNXYe


14. If dx = f(x) + C, where f(1) =0, then

e^(e^(f(2)-1))is equal to

View Text Solution

(In(exx + 1) + (Inx√x))
2

1 + (xInx)(Ine2xx)

15. If ∫ (x6 + 7x5 + 6x4 + 5x3 + 4x2 + 3x + 1)exdx is equal to 
α

∑
k = 1

βxk. ex + C (where C is constant of integration) then (α + β) is

View Text Solution

16. int ((x^(6)-4)dx)/((x^(6)+2)^(1/4)x^(4)) = (1(x^(6)+2)^(m))/x^(n)+C`, then

n/(lm) is equal to

View Text Solution

17. Let ∫ = In
∣
∣
∣

∣
∣
∣

+ C, then k2 + l2 is equal to
4 + 3x

x3 − 2x − 4
x − k

√x2 + kx + 1

https://dl.doubtnut.com/l/_62QA9oqc5VXh
https://dl.doubtnut.com/l/_q9Xdzx3gLVZI
https://dl.doubtnut.com/l/_yMt9PQ0dBCPT
https://dl.doubtnut.com/l/_yHXWTUgWNO05


View Text Solution

18. If ∫ dx = + + 2x + C, then the value of (a+b) is

View Text Solution

x8 − 12x4 + 4
x4 − 4x2 + 2

xa

a
4xb

b

19. Suppose A = ∫  and B = ∫ . If 12(A+B) =

lambda tan^(-1)((x+3)/4)+mu. In|(x-9)/(x+3)|+C, thenthevalueof(lambda +

mu)` is

View Text Solution

dx
x2 + 6x + 25

dx
x2 − 6x − 27

20. Let ∫ = In( ) + C where p,q,r in N` and need not be

distinct, then the value of (P+q+r) equals

View Text Solution

dx
x2008 + x

1
p

xq

1 + xr

https://dl.doubtnut.com/l/_yHXWTUgWNO05
https://dl.doubtnut.com/l/_lNin8SOjojzh
https://dl.doubtnut.com/l/_It9ZEHHOfuRt
https://dl.doubtnut.com/l/_QNA5vJmWYTvw


21. If ∫ = C −  where f(x) is of the form

of ax2 + bx + c then (a+b+c) equals

View Text Solution

(2x + 3)dx
x(x + 1)(x + 2)(x + 3) + 1

1
f(x)

22. Let f(x) be the primitive of w.r.t. x. If F(10) = 60 then the value

of F(13), is

View Text Solution

3x + 2
√x − 9

23. If ∫ dx = g(x) + Cwhere g(1) = 0, then g(e6) is equal to

View Text Solution

In√x
x

24. int(sin^(2)x)/(sec^(2)x-cos^(2)x) dx = lambda x - 1/mu tan^(-1)

((tanx)/sqrt2)+CwhereCiscons tan tof∫egration), thenlambda^(2) +mu^(2)`

is equal to

https://dl.doubtnut.com/l/_TskeV57L1DFc
https://dl.doubtnut.com/l/_zDi9acW50xMC
https://dl.doubtnut.com/l/_Lhr5zH3tatZz
https://dl.doubtnut.com/l/_xLx9Q1VfN0OU


View Text Solution

25. If ∫ ex( )
2

dx = ex( ) + C where C is integration constant),

then |β − α| is equal to

View Text Solution

x + 2
x + 4

x − α
x + β

https://dl.doubtnut.com/l/_xLx9Q1VfN0OU
https://dl.doubtnut.com/l/_6nSfzftFmYwR

